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Study the given data in the table and answer the questions that follow

Consider the following table that presents the results of a competitive MCQ examination,
where candidates were tested in their knowledge of Physics, Chemistry, Mathematics and
Computer Science. The table contains the data on the number of candidates securing marks
within the specified range of marks. For example, [81-100] specifies the range of marks as =81
and =100.

Marks-wise Distribution of Candidates

Total

Subject  |mMarks|[81-100]|[71-807|[61-701|[51-60] |[41-50]|[31-40]|[21-307|[11-20]{[0-10]
Physics 100 0 1 4 85 730 | 4205 |10885| 9170 | 1920
Chemistry | 100 2 5 875 | 3350 | 6775 | 7778 | 5065 | 1800 | 1350
Mathematics| 100 0 0 0 6 199 | 3400 | 15045 | 6975 | 1375
Computer

. 50 0 0 0 0 220 | 2145 | 10140 | 11858 | 2637
science

Sub questions

Question Number : 1 Question Id : 2105299225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Assuming that there are no absentees, what is the total number of candidates who appearad

for the examination?

1. More than 50000
2. 25635

3. 26973

4. 27000 a a
Options :

21052936201. 1

21052936202. 2
21052936203. 3
21052936204. 4

Question Number : 2 Question Id : 2105299226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
What is the ratio of the total number of candidates who scored more than 50 marks in Physics

to those who scored more than 40 marks in Mathematics?

1.17:49
2:18:41

3. 43:61

4. 85:199
Options :
21052936205. 1
21052936206. 2
21052936207. 3
21052936208. 4

Question Number : 3 Question Id : 2105299227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If securing over 40% marks is the qualifying criteria for each subject, then the ratio of the
number of candidates who qualify in Mathematics compared to those who qualify in

Computer science is

1.15:42

22

3. 56:1

4. 1:61
Options :
21052936209. 1
21052936210. 2
21052936211. 3
21052936212. 4

Question Number : 4 Question Id : 2105299228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If securing over 60% marks is the qualifying criteria for the subject of Computer science, then

what is the approximate percentage of qualified candidates in the subject of computer science

{Assume no absentees)?

1.12.65%

2. 8.76%
3.865%

4. 0%

Options :
21052936213. 1
21052936214. 2
21052936215. 3
21052936216. 4

Question Number : 5 Question Id : 2105299229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If securing over 60% marks is the qualifying criteria for each ofjthe threersgbjects _Bf&?hysig;,_-

Chemistry and Mathematics, then the number of candidates whe ha_\raj-t__qualfﬁeq._;in all thiee

subjects is

1.0

2.90

3.6

4.5

Options :
21052936217. 1
21052936218.2
21052936219. 3
21052936220. 4

Question Id : 2105299224 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
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Uifgwsd| 100 | 0 1 4 | 85 | 730 |4205|10885| 9170 | 1920

RHAEIRE | 100 2 5 875 3350|6775 | 7778|5065 | 1800 | 1350

IR 100 0 0 0 6 199 | 3400 |15045| 6975 | 1375

3'7_510?? 50 0 0 0 0 220 | 2145 (10140|11858 | 2637

Sub questions

Question Number : 1 Question Id : 2105299225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HH <, Bl i opadl SO Fel 4T 1l 31 SR 31 o ST aaisy, ol uen H St

BU?

1. 50000 ¥ 3HfH
2. 25635

3. 26973

4, 27000

Options :
21052936201. 1
21052936202 2
21052936203. 3
21052936204 4

Question Number : 2 Question Id : 2105299226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

770G o 40 ¥ Hf¥® ki ard H¥afddl @1 go | Hildesa § 50 ¥ e wrdia ard
afifal @1 po 9= & U dl § ?

1.17 : 49
2.18: 41
3.43:061
4.85:199
Options :
21052936205. 1
21052936206. 2
21052936207. 3
21052936208. 4

Question Number : 3 Question Id : 2105299227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e Ui (990 H Sfedl $I HHIC] 40 U= 3fd U AT & df HeeR [H99H § Sfedl Wi He-
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1. 15:42

22

3. 56:1

4, 1:61
Options :
21052936209. 1
21052936210. 2
21052936211.3
21052936212. 4

Question Number : 4 Question Id : 2105299228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I R 37 & I el & DI 60 WO § S & UIi® & o PRgER a9 | Sedl

- T ST T ST UTaeid a1 & (T8 HiFd B [ ®is Suiyd =Ta! o) :

1. 12.65%
2.8.76%
3.8.65%

4. 0%

Options :
21052936213. 1
21052936214.2
21052936215. 3
21052936216. 4

Question Number : 5 Question Id : 2105299229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g ifa®meRe, JaE-=id SR I & 3 faudl § 3 ud® avg o sdl @] &ard 60 % 4

SR Ui & ol 39 94l diiF [audf 7 3ear - Yk il o g8 e

1.0

2.90

36

4.5

Options :
21052936217. 1
21052936218. 2
21052936219. 3
21052936220. 4

Sub-Section Number : 2
Sub-Section Id : 210529357
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105299230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The view that teaching-learning situations may be characterized to fall on a continuum

ranging from memory level to reflective level was advanced by

1. Kurt Lewin

2. Stephen M. Corey
3. Morris L. Bigge

4. B. F. Skinner
Options :
21052936221. 1
21052936222. 2
21052936223. 3
21052936224. 4



Question Number : 6 Question Id : 2105299230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936221. 1
21052936222. 2
21052936223. 3
21052936224. 4

Question Number : 7 Question Id : 2105299231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which committee/commission recommended the choice-based credit system in higher

education?

1. Administrative and Academic Reform Committee of the UGC
2. Justice Verma Commission on Teacher Education

3. Ramamurti Committee on Higher Education

4. Chattopadhyay Committee on Teacher Education

Options :

21052936225. 1

21052936226. 2

21052936227. 3

21052936228. 4

Question Number : 7 Question Id : 2105299231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936225. 1

21052936226. 2

21052936227.3

21052936228. 4

Question Number : 8 Question Id : 2105299232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A teacher in a particular college assigns percentile ranks to indicate his/her students’

performance in the unit tests conducted. What type of assessment procedure will it be called?

1. Criterion-referenced
2. Norm-referenced

3. Formative

4, Summative

Options :

21052936229. 1
21052936230. 2
21052936231.3
21052936232. 4



Question Number : 8 Question Id : 2105299232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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3. fFETEs

4 oo ®
Options :
21052936229. 1
21052936230. 2
21052936231. 3
21052936232. 4

Question Number : 9 Question Id : 2105299233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following support materials in learning use the procedures of programmed

Instructional Technology based on Skinner and Crowder's principles?

A. Modular instructional material

B. Branching programmes based material

C. Linear programmes based materials

D. Specially prepared supplement programme materials

E. Lecture outlines with components of 'to reflect’ and 'to do’
Choose the correct answer from the options given below:

1. B and C only
2. A and C only
3.Cand D only
4. DandEonly
Options :
21052936233. 1
21052936234. 2
21052936235. 3
21052936236. 4

Question Number : 9 Question Id : 2105299233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936233. 1
21052936234. 2
21052936235. 3
21052936236. 4

Question Number : 10 Question Id : 2105299234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the features of understanding level teaching from the following

A. The teacher takes the initiative in organizing subject matter, in structuring the various units

and in controlling the practice taken up by students

B. It is basically devoted to helping students in seeing of relationships and f@b! use @fja fact.

C. It is directed at problem raising'and problem-solving in a collabl
D. It is aimed at the conceptualization of ideas and facts
E. The purpose is to promote autonomy in the learning process through self-regulation
Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. DandEonly
Options :
21052936237. 1
21052936238. 2
21052936239. 3
21052936240. 4

Question Number : 10 Question Id : 2105299234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936237. 1
21052936238. 2
21052936239. 3
21052936240 4

Question Number : 11 Question Id : 2105299235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A university teacher administers a self-made test for summative evaluation of his/her students.

The distribution of scores of students is found to be positively skewed.

What inference he/she should make about the difficulty level of this test?

1. The test is much tog easy for students

2. The test is difficult for students

3. The test is quite interesting to students

4. The test is favouring those students who are low rankers
Options :

21052936241. 1

21052936242.2

21052936243. 3

21052936244. 4

Question Number : 11 Question Id : 2105299235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936241. 1

21052936242. 2

21052936243. 3

21052936244. 4

Question Number : 12 Question Id : 2105299236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

A college teacher intends to find out as to what extent student involvement in learning of boys
and girls from rural/urban areas is attributable to the socio-economic status of the family from
which they hail. What will be designated as an independent variable in this research project?

1. Student involvement in learning

2. Socio-economic status of the family
3. Rural/urban areas

4. Gender (Boys and Girls)

Options :

21052936245. 1

21052936246. 2

21052936247. 3

21052936248. 4

Question Number : 12 Question Id : 2105299236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936245. 1

21052936246 2

21052936247. 3

21052936248 4

Question Number : 13 Question Id : 2105299237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A research scholar finds through statistical analysis that the vgﬂyeqf
decision is warranted on the basis of this hypothesis?

i sigrfifigen. Wi

A. The Null hypothesis should be rejected

B. The research hypothesis should be accepted

C. The null hypothesis should be accepted

D. The research hypothesis should be rejected

E. No decision is warranted in respect of research hypothesis
Choose the correct answer from the options given below:

1. A and B only
2.Band C only
3.Cand D only
4. DandEonly
Options :
21052936249. 1
21052936250. 2
21052936251. 3
21052936252. 4

Question Number : 13 Question Id : 2105299237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936249. 1
21052936250. 2
21052936251. 3
21052936252. 4

Question Number : 14 Question Id : 2105299238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the chiaracteristics of a 'good sample’inresearch?
A. Readily accessible

B. Representative of population characteristics

C. Serving the personal considerations of the researcher
D. Precision and accuracy in approximating the parameters a a
E. Freedom from bias

Choose the correct answer from the options given below:

1. A, B and C only
2. B, D and E only
3. B, Cand D only
4.C, D and E only
Options :
21052936253. 1
21052936254. 2
21052936255. 3
21052936256. 4

Question Number : 14 Question Id : 2105299238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936253. 1
21052936254. 2
21052936255. 3
21052936256. 4

Question Number : 15 Question Id : 2105299239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: In research, formulation of policies for admission tests/screening cannct neglect
the constitutional provisions

Statement II: While awarding research degrees the minorities quota have to be protected in

the interest of equity
In light of the above statements, chioose the most apmpriaana
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052936257. 1

21052936258. 2

21052936259. 3

21052936260. 4

Question Number : 15 Question Id : 2105299239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936257. 1

21052936258. 2

21052936259. 3

21052936260. 4

Question Number : 16 Question Id : 2105299240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Reframing in communication means

1. Employment of new metaphors

2. Rejecting the conventional expressions
3. Opting for hyperbole

4. Preferring oppositional binaries
Options :

21052936261. 1

21052936262. 2

21052936263. 3

21052936264. 4

Question Number : 16 Question Id : 2105299240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEr F Gy o1 991 a1 § 7
1. ¢ TG Bl HIHART
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Options :

21052936261. 1

21052936262. 2

21052936263. 3

21052936264. 4

Question Number : 17 Question Id : 2105299241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following contribute for effective cross-cultural communication?
A. Quick flow of words

B. Use of foreign words

C. Selection of simple words

D. Taking turns to speak

E. Maintenance of etiquette

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Dand E only
4.C,D and E only
Options :
21052936265. 1
21052936266. 2
21052936267. 3
21052936268. 4

Question Number : 17 Question Id : 2105299241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
21052936265. 1
21052936266. 2
21052936267. 3
21052936268. 4

Question Number : 18 Question Id : 2105299242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Cross communication promotes teamwork in the classroom
Statement II: Exactness of communication in a cross-cultural setting is flexible and responsive

In light of the above statements, choose the mest appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052936269. 1

21052936270. 2

21052936271.3

21052936272. 4

Question Number : 18 Question Id : 2105299242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936269. 1
21052936270. 2
21052936271.3
21052936272. 4

Question Number : 19 Question Id : 2105299243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The emergence of media of communication, in chronclogical sequence, is
A. Radio

B. Newspaper

C. Film

D. Television

E. Internet

Choose the correct answer from the options given below

1.A,CDEB
2B CADE
3.CD,EAEB
4.D,E C B A
Options :

21052936273. 1
21052936274. 2
21052936275. 3



21052936276. 4

Question Number : 19 Question Id : 2105299243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1.ACDEB
2B CADE
3.C.D,EAB
4.D,ECEB A
Options :

21052936273. 1
21052936274.2
21052936275. 3
21052936276. 4

Question Number : 20 Question Id : 2105299244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List I1

List | List I1

A. Prayer in silence I. Vertical com psimications

B. Teacher talking to students outside the Il. Grapevine

classroom

C. The CEO of a company issues a circular to  |lll. Inter-personal communication

his subordinates

D. Rumour mongering among employees of  |IV. Group communication

an organisation

Choose the correct answer from the options given below:

TLA-ILB-IV.C-1,D-1l
2ZA-NILB-IV,C-1,D-1l
3LA-IVB-NLC-I,D-I
4A-1L,B-ILC-1,D-1V
Options :

21052936277. 1
21052936278. 2
21052936279. 3
21052936280. 4

Question Number : 20 Question Id : 2105299244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tl-1 Bl Gi-1 & Y AT Diford :

-l -1l

A JIF TrET |, Tie FRI]
p.Rem ma i ek Meiai A dae e w@ie Il Yuarsd

C. U S @] 913,311, 30 =y &1 us 1||.:?ri?|?-é?ﬂ%$

U SR Sl & T
D. fodt WE- & SHA! & §d Shdle haFT IV, THE TRiE
o feu e fasdedl | ¥ el 3k gHU:

TLA-ILB-IV,.C-1,D-1
ZA-ILB-IV,C-1,D-1
3A-IV,B-ILLC-I,D-1
4 A-1,B-1IL,C-1I,D-IV
Options :

21052936277. 1
21052936278. 2
21052936279. 3
21052936280. 4

Question Number : 21 Question Id : 2105299245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The salary of Hamid was reduced by 10%. By what per cent should his salary be raised to bring

it back to his original salary?

1. 10%
2:11%
31 1%%
1
4.11-%

11 3
Options :
21052936281. 1
21052936282. 2

21052936283. 3
21052936284. 4

Question Number : 21 Question Id : 2105299245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THIE & a1 | 10 Wia=Id & Seidl &1 713 4T | 3US! 39d Hel da | a9y aH & (oL 39 ad-

H oo wid=id @1 gl ®1 w1 =g 2

1. 10%
2. 11%
3.1 1%%
1
4.11=%

11 3
Options :
21052936281. 1
21052936282. 2
21052936283. 3
21052936284. 4

Question Number : 22 Question Id : 2105299246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Consider the following fractions

O
O e

=
Dl v olw

g,

For the above fractions, which one of the following is in the correct descending order? choose
the correct answer from the options given below

1TLA>B>D=>E>C
2ZA>D=>B>E>C
3A>B>D>C>E
4A>D>B>C>E
Options :
21052936285. 1
21052936286. 2
21052936287. 3
21052936288. 4

Question Number : 22 Question Id : 2105299246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frafafay il w 3R sifoe

| e

A

[y
=

vk olw Ol

(%) ]

E,
13

IR fugl & o FuffEa ¥ 9 o9 98 Sl 9 8 2

1A>B>D=>E>C
2A=D=B=E=C
3A>B>D=>C>E
4A>D=>B>C>E
Options :
21052936285. 1
21052936286. 2
21052936287. 3
21052936288. 4

Question Number : 23 Question Id : 2105299247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The time is 2:15 pm. What is the angle between the hour and the minute hand?

1. 20 1/2°

2. 30°
3.221/2°

4, 25°

Options :
21052936289. 1
21052936290. 2
21052936291. 3
21052936292. 4

Question Number : 23 Question Id : 2105299247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
THY WG B2 15 59l g1 U 3R iFe BT goal & aid [dd- &1 v & ?

1. 20 1/2°

2. 30°
3.221/2°

4, 25°

Options :
21052936289. 1
21052936290. 2
21052936291. 3
21052936292. 4

Question Number : 24 Question Id : 2105299248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The mean is the numerical average and is found by adding upgall the values and

dividing the sum by the number of values

Statement II: The mean of the following wages is 16000

i) 12000

i) 10000

i} 23000

iv) 15000

In light of the above statements, choose the eorrect answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052936293. 1

21052936294. 2

21052936295. 3

21052936296. 4

Question Number : 24 Question Id : 2105299248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



EIERAR-AIE AT

FYF-1 : AT TH BT AGd & IR 06! 9 A4 & 9is IR AR o7 1 794 @1 g=3msi 9
YT & FaTer ordl gl

FYH-1| ; FufRaa gt &1 =i 1 9E8H 16000 § ;
i) 12000

ii) 10000

iii) 23000

iv) 15000

Suad dyHl & selie H Fgifed fdeel § U 9l I 9
1.4 | 3R 11 &Hl g8 8l

2. @Y | 3R 1 & TTed B

3. Y- T &, g PYH-1 Taa B

4, BYF-| 3T &, o PYH-1 TRl B

Options :

21052936293 1

21052936294. 2

21052936295. 3
21052936296. 4

Question Number : 25 Question Id : 2105299249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If January 1, 2007, was a Monday, then January 1, 2008, is a

1. Sunday

2. Monday

3. Tuesday

4. Wednesday
Options :
21052936297. 1
21052936298. 2
21052936299. 3
21052936300. 4

Question Number : 25 Question Id : 2105299249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tfg 1 9Fa, 2007 P FHAR Y, Al 1 9FaY, 2008 $ FTg 1 Sl o] Usdl 87

1. AR

2. GiaRr

3. HTTAR
ENCLEIR
Options :
21052936297. 1
21052936298. 2
21052936299. 3
21052936300. 4

Question Number : 26 Question Id : 2105299250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Next letter in the logical pattern O, T, T, F, F, 5, S, E N, __is

1. N

2 E

2L F

4T

Options :
21052936301. 1
21052936302. 2
21052936303. 3
21052936304. 4

Question Number : 26 Question Id : 2105299250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
O T,T,FFS,S EN,? @I dlite GaHH 5 SR 3R 6 :

N
. E
. F

FTI

-
Options :

21052936301. 1
21052936302. 2
21052936303. 3
21052936304. 4

Question Number : 27 Question Id : 2105299251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A's father has five sons. Names of four sons are M,0,Q and 5. What is the name of 'his fifth

son?

1.T

2U

3 A

4. K

Options :
21052936305. 1
21052936306. 2
21052936307. 3
21052936308. 4

Question Number : 27 Question Id : 2105299251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AU U TS IRETHTHM, 0, Q AR S &1 IuP Uiad P HI RTAH G ?

1.7

2U

3 A

4. K

Options :
21052936305. 1
21052936306. 2
21052936307. 3
21052936308. 4

Question Number : 28 Question Id : 2105299252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List 11

Pairs Pairs of analogies
A. Owl : Flight 1. Dairy farmer : Milk
B. Bell : Chime 1. Snake : Crawl

C. Knife : Cut 1Il. Thunder : roar

D. Farmer : Crop V. Sword : Slaughter

Choose the correct answer from the options given below:

1TA-ILB-IV,C-1ILD-1|
2ZA-IVB-IILC-1L,D-1
3A-LB-IV,C-1,D-1I
4 A-ILB-1ILC-IV.D-|
Options :

21052936309. 1
21052936310. 2
21052936311. 3
21052936312. 4

Question Number : 28 Question Id : 2105299252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

-1 B S gt o i B ) TS S el & gt @ ghe SR

-l -1l

A. 3T : S 1. Tl i - g

Ror s I1. 9 : ST

C. 1% ; el 111, HE o : TRAY AT | |
D. & : BT V. deldly : 9%

Hid Teu U fadhedl H ¥ 9el 9ok gHu :
LA-IL,B-IV,C- D=
2.A-IV,B-1l,C-1, D=l
3.A-1,B-IV,C-1I, D=1

4 A-1L,B-1LC-1IV,D-|
Options :

21052936309. 1
21052936310. 2
21052936311. 3
21052936312. 4

Question Number : 29 Question Id : 2105299253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Today is what day if, day before yesterday it was 13t of the present month and 3" day of the
last month, with 31 days, was a tuesday?

1. Sunday

2. Tuesday

3. Wednesday
4. Friday
Options :
21052936313. 1
21052936314. 2
21052936315.3
21052936316. 4

Question Number : 29 Question Id : 2105299253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ofg Ul aoHE HelH &1 13 a1 {57 3R 21 37 s fvd 7= &1 Jiawn fg= dear ur i e
ﬁ:ﬁcﬂﬁq%

1. AR

2. {TeaR

3. gHUdi

4. =gl
Options :
21052936313. 1
21052936314.2
21052936315. 3
21052936316. 4

Question Number : 30 Question Id : 2105299254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: If A, B and C are standing in a circle looking at the centre and B is just left of A,
then C is just right of B

Statement II: If X, Y and Z are standing in a circle locking at the centre and X is just right of ¥,
then Z is just right of X

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement liare false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052936317. 1

21052936318. 2

21052936319. 3

21052936320. 4

Question Number : 30 Question Id : 2105299254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

EIERAEAIC A

DYA-1: Tl A, B 3R C el 30 H WO iR g DI AR cE W o aUI B AP AD AU H g dl C,
SmeHEUHBI

Y- Ffe X, v 3R Z [l g H We Bl s Bl AR GW /W s ARX DY DU HEdl Z
S@xHECHBI

Iudad oYl & 3eiie H FHeifed [deedl H 4 Hel 3w g :

1.4 | 3R 11 &Hl g8l Bl

2. @Y | 3R 1 & TTed B

3. Y- 9 &, g dYH-1 Tad 8

4, BYF-| 3T &, o PYH-1 TRl B

Options :

21052936317. 1

21052936318. 2

21052936319. 3
21052936320. 4

Question Number : 31 Question Id : 2105299255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Consider the following sizes of computer memory. Choose the correct ascending order
A.MB

B. GB

C. KB

D.TB

Choose the correct answer from the options given below

1.B,D A C
2.D,B A C
3.ABCD
4 CABD
Options :
21052936321.
21052936322.
21052936323.
21052936324.

AW N =

Question Number : 31 Question Id : 2105299255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HR TR @ FRfifed Ted R TR @il | 58 IRIe! %9 &1 994 Sl
A. MB
B. GB

C.KB

D.TE
e fag e e A AR SR AT
1.B,D, A, C

2.0,BAC
3.ABCD
4.C A BD
Options :
21052936321.
21052936322.
21052936323.
21052936324.

B W N =

Question Number : 32 Question Id : 2105299256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Printed output from a computer system is called soft copy

Statement II: RAM is a read/write memory

In light of the above statements, choose the correct answer from the optiens given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052936325. 1

21052936326. 2



21052936327.3
21052936328. 4

Question Number : 32 Question Id : 2105299256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tad sy g me:

FY-1 ; ot drgeR vomedt & forg w7 fife - fla 1 St @1 FeT ST )
Tl : RAM T S5/ Tge Ja B

U FYHl @ STelie H Fgifed fdeeal § U 98l 3w 9 -

1. @Y | 3R 1l &H T8 g

2. @A | 3R 11 G TTd B

3. BYF-1 9 &, food HYH-1 T &
4 TYF-| 39 §, fg HYH-1 TR B
Options :

21052936325. 1

21052936326. 2

21052936327. 3

21052936328. 4

Question Number : 33 Question Id : 2105299257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT used to avail internet connectivity?

1. Wi-Fi

2.3G

3. Scanner

4. 4G

Options :
21052936329. 1
21052936330. 2
21052936331. 3
21052936332. 4

Question Number : 33 Question Id : 2105299257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Zede PAgeiael o ®E § I J Fefafad @ § e 3ugim 98l fear sl ?

1.9% - B
2. 390

3. TR

4 47T
Options :
21052936329. 1
21052936330. 2
21052936331. 3
21052936332. 4

Question Number : 34 Question Id : 2105299258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Input device I. Chrome
B. Qutput device 1. M5-office
C. Software 1Il. Mouse
D. Web browser IV. Moniter

Choose the correct answer from the options given below:

TA-ILB-ILC-1,D-1V
ZA-L,B-IV,C-1I,D-1
3A-LB-1IL,C-IV,D-1l
4 A-IV,B-IILC-1,D-1
Options :

21052936333. 1
21052936334.2
21052936335. 3
21052936336. 4

Question Number : 34 Question Id : 2105299258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ti-1 B Gi-1l o 1Y AT Diforg :

-l -1l

A. 3{FTd U@ 1.

B. fia Suamm iI, 5 T - g

C. Gifeae 111, 7139

D. 99 FI8oR V. HiTeR | |
Hid fen 4 faeeyl H 4 18w giFe :

TA-ILB-1ILC-1,D-Au
ZA-,B-IV,C-1lLD-1
3A-L,B-1IL,C-1V, D=1l
4 A-IV,B-1ILLC-1I,D=1
Options :

21052936333. 1
21052936334.2
21052936335.3
21052936336. 4

Question Number : 35 Question Id : 2105299259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Radha receives an email claiming that her credit card account is about to be suspended unless

she emails her credit card details and personal identification number (PIN) immediately. What

is this an example of?

1. Spamming

2. Phishing

3. Virus Signing
4. Scanning
Options :
21052936337. 1
21052936338. 2
21052936339. 3
21052936340. 4

Question Number : 35 Question Id : 2105299259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YT BT TP 3 Hel U 811 & [oras U8 Sel [ 39T $ise @ls @dl §¢ 5 ardl & SR 399
HYH shfse BT @1 BRI AR siediTd Uga S&A1 (U1 315 UH) 9id § Hd 1ol @11 98 gl
JEE § ?

1. T

2. Tepfai

3. IERY W
4. BT
Options :
21052936337. 1
21052936338. 2
21052936339. 3
21052936340. 4

Question Number : 36 Question Id : 2105299260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

To put the world on a least cost pathway to limiting global warming to 2°C above the pre-

industrial level, global greenhouse gas emissions by 2030 with reference to 2017, require

reduction to the extent of

1. 25%

2:15%

3. 10%

4. 20%
Options :
21052936341. 1
21052936342.2
21052936343. 3
21052936344. 4

Question Number : 36 Question Id : 2105299260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG AT B Od - D &R & SR 2° C a SN H-janserd ¥ [ al Ha flds
ATE & A R O & TOE 2017 @ TUel 2030 T ks T GHae SoisE H el g
el AP § ?

1.25 %
2:15%

3.10 %
4.20%
Options :
21052936341. 1
21052936342.2
21052936343. 3
21052936344. 4

Question Number : 37 Question Id : 2105299261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence in decreasing order of the carbon content per unit mass of the

following carbon reservoirs in the aquatic environment of oceans
A. Sediments

B. Living organisms

C. Dissolved organic matter

D. Dissolved inorganic matter

Choose the correct answer from the options given below

1.D,A B, C
2ADCB
3.BCAD
4.C B AD
Options :
21052936345. 1
21052936346. 2
21052936347.3
21052936348. 4

Question Number : 37 Question Id : 2105299261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks :

HEETRI & 9oy araraRyy H #re- HUSR & H9iRad Uid tee goqd H Sl 7 & 9al
mwﬁwﬁﬁm:

A, TGOS (FeiHcH)
B. Silg-uig

C. g gU wifd® yard

D. Ydl §U 3fuifd® UgH a a
I fer e ol § T WRl Sw g ;

1.0, A B, C

2.A D CB

3B CAD

4 C B AD

Options :

21052936345. 1

21052936346. 2

21052936347.3
21052936348. 4

Question Number : 38 Question Id : 2105299262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Hydrofluorocarbons (HFCs) need to be phased out to protect the Ozone layer
Reason R: HFCs have a high global warming potential

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052936349. 1

21052936350. 2

21052936351. 3

21052936352. 4

Question Number : 38 Question Id : 2105299262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR FARTTE . 16 3 AU (4) IR TR P a6 (R) FE T3 :
SHYBYT (A) : 31 URA B TG0 F (70 SRS IIARI@TE-T (T9.0%. 1) BT 52T M1a0F 8
% (R) : TTUE.AL. H ied g @i 9o SHe0dl 8l o
Iuad HYH! & 3Tl J il (el § ¥ Haiid® Juddd St g+ ;
A) 3R (R) T W1 € 3R (R), (&) F1 Hel AR & |

1.
2. (A) 3R (R) THT UL & SR (R), (A) T G ARSAT A1 5

3. (A) H81 2 T3 (R) Tl A6l &)

4. (A) Hel 1 € WWd (R) Hel &1 a a
Options :

21052936349. 1
21052936350. 2
21052936351. 3
21052936352. 4

Question Number : 39 Question Id : 2105299263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List1 List 1l

International Agreements Provisions

A. Kyoto Protocol I. Convention on Biodiversity

B. Paris Agreement 1l. Affordable, reliable clean energy

C. Rio Summit 1Il. Nationally Determined Contributions
D. International Solar Alliance IV. Joint Implementation

Choose the correct answer from the options given below:

1TA-NLB-IV,C-1,D-1
2ZA-IVB-NILC-1,D-1
3A-IVB-ILC-ILD-I
4 A-LB-IL,C-IV,D-|
Options :

21052936353. 1
21052936354.2
21052936355. 3



21052936356. 4

Question Number : 39 Question Id : 2105299263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tdt-1 &I Ti-1 & Ty Ao Siferg :

-1 -1l

A. T Uleidla 1. o - Tafaern o g=aA

B. URW gHSian I1. T, e | = el
c. feafl forer geae 1. TP T § FeiRe armer
D. 3RIF UR T \v. HgE SHT-ag

Jrd feu e fadpedl o 4 Uel SR gL

1TA-ILB-IV,C-1,D-1
2ZA-IVB-NILC-L,D-1
3A-IVB-ULC-ILD-I
4 A-1LB-I,C-IV,D-|
Options :

21052936353. 1
21052936354. 2
21052936355. 3
21052936356. 4

Question Number : 40 Question Id : 2105299264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mitigation measures to cope'with floods include

A. Elevating or protecting electrical service panels

B. Upsizing culverts to'better handle flood surges

C. Protecting facilities'with barriers and sandbags

D. Removing trees and debris from the flood plain

E. Relocating equipment outside the flood plain

Choose the correct answer from the options given below:

1. A, C, Dand Eonly
2. A B, CandEonly
3.ABCDandE

4.B,C, D, and E only

Options :

21052936357. 1
21052936358. 2
21052936359. 3
21052936360. 4

Question Number : 40 Question Id : 2105299264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



a1 & gual § e & e sefiem Sum e g € 7

A, Taggda Ta1 THa &1 3954 91 &0 A

B. @I & IBHI § d5o) &7 U U &1 fag gfiemrsii &1 Je1 &3
C. a3 3d & al g SAT01 gRayTaf &1 We we

D. 91 &7 U & AR 7ad @ gl

E. SUSRUN DI §1¢ &5 F WFIARd BT

14 feu 71w fadedl 3 © 98l IR 9 -

1.®dd A, C D IRE
2. BaaA, B, CIHRE
3.AB,CD3IRE
4,%adB,C, D, ARE
Options :
21052936357. 1
21052936358. 2
21052936359. 3
21052936360. 4

Question Number : 41 Question Id : 2105299265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: An institution in the field of higher education seeking deemed ta be university
status must have been in existence for at least 10 years

Statement II: A deemed to be university must have at least five post-graduate departments

In light of the above statements, choose the correct answer f e optichs gi |
1. Both Statement | and Statement || are true a
2. Both Statement | and Statement || are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

21052936361. 1

21052936362. 2

21052936363. 3

21052936364. 4

Question Number : 41 Question Id : 2105299265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DYA-1 ; I 16T H SR ol TR a1 oS ¢ o fayfaemeg @ ae o & o S
TATH 10 T 9P BT A B WD ¢ |

DUF-I| : SIFS 2§t [a%faeTe & UTH YaH Uid Wil [aH T 196 8|
U dYHl & srelies H Fgifed fdeel § 1 9gl 3w g

1. B | 3R gFf el gl

2. @A | 3R 11 G TTad B

3. BYF-1 9 &, foog BYA-1 e B
4, Y- 39T g, foog Y- Tel B
Options :

21052936361. 1

21052936362. 2




21052936363. 3
21052936364. 4

Question Number : 42 Question Id : 2105299266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
According to National Skills Qualifications Framework (NSQF), the level 8 competency is

equivalent to

1. Post graduate degree

2. Under graduate degree

3. Under graduate (honors) degree
4. Doctoral degree

Options :

21052936365. 1

21052936366. 2

21052936367. 3

21052936368. 4

Question Number : 42 Question Id : 2105299266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AP BN ARl TR (T, T, T, U) & 38R TR 8 Y1l [ He A 87

1. W@ (&4

2. Fia® fshi

3. TaE (3H19) o
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Options :
21052936365. 1
21052936366. 2
21052936367. 3
21052936368. 4

Question Number : 43 Question Id : 2105299267 Question Types:MCQ Option Shuffling : Nols Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
MHRD's scheme "VIDWAN', is aimed at

1. Creating a database and national research network
2. Making available e-resources

3. Promoting entrepreneurship among faculty

4. Awarding national professorship to a faculty
Options :

21052936369. 1

21052936370. 2

21052936371.3

21052936372. 4

Question Number : 43 Question Id : 2105299267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936369 1

21052936370. 2

21052936371. 3

21052936372. 4




Question Number : 44 Question Id : 2105299268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In ancient India, the eligibility criterion in respect of age for students seeking admission to

Takshhshila University was set at

1. 22 years

2 20 years
3.718 years

4. 16 years
Options :
21052936373. 1
21052936374. 2
21052936375. 3
21052936376. 4

Question Number : 44 Question Id : 2105299268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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41634
Options :
21052936373. 1
21052936374. 2
21052936375. 3
21052936376. 4

Question Number : 45 Question Id : 2105299269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kothari Commission had recommended a certain percentageﬁf-naﬁonﬁl income to be

invested in education. What was that percentage?

1. 10%

2. 8%

3. 6%

4. 5%

Options :
21052936377. 1
21052936378. 2
21052936379. 3
21052936380. 4

Question Number : 45 Question Id : 2105299269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DISRT ST+ & W AT 319 &1 U Mg Wicrd Fd2 &3 S 3= 311 98 Wicerd o

urz

1. 10 %4

2.8%

3.6%

4.5%
Options :
21052936377. 1
21052936378. 2
21052936379. 3



21052936380. 4

Sub-Section Number : 3
Sub-Section Id : 210529358
Question Shuffling Allowed : Yes

Question Id : 2105299270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

To be swayed by emotions can surely be a problem, but otherwise, emotions are such a wealth
within us that they are rightly called a source of human energy, information and influence.
When we understand them well and handle them wisely, they can help us mend fences or
move mountains. They touch our hearts and a rich life is necessarily one that is centred in the
heart. To love and be loved is the greatest privilege of life, said Chinmaya, the popular teacher
of the Vedanta.

To put in efforts towards understanding our own and others' emotions leads to an
enhancement of our Emotional Quotient (EQ). By broadening our outlook, we can discard false
judgments and this leads to the rise of healthy emotions within us. Just to be aware of the
factors that activate particular emotions that arise in us, paves the way to a better handling of
these forces at work. We need to train ourselves to be rightly assertive in the face of injustice
or some unfair treatment meted out to us. This means that we rise above all passivity that is
inaction and at the same time avoid aggressive behaviour that could be harsh or violent. Even
skills that we develop to handle stress fall under emotional maturity for a lot of stress is the
result of certain negative emotions making situations look darker than what they actually are.
Developing empathy is another aspect of emotional grewth, where we' "emotionally read”
others and thus relate with/them very accurately rather than in somesimagined way.

Sub questions
Question Number : 46 Question Id : 2105299271 Question Type : S : uestion Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Human emotions are

A. Neither good nor bad

B. Source of human energy

C. Passive in nature

D. Beneficial when handled wisely

Choose the ecorrect answer from the options given below:

1. A and B only
2.Band Conly
3. Cand D only
4.Band D enly
Options :
21052936381. 1
21052936382. 2
21052936383. 3
21052936384. 4

Question Number : 47 Question Id : 2105299272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Used properly, emotions lead us to

1. Accumulate wealth

2. Arich and joyous life

3. Being judgemental

4. Relate with others in some imagined way
Options :

21052936385. 1

21052936386. 2

21052936387. 3

21052936388. 4

Question Number : 48 Question Id : 2105299273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

By a clear assessment of emotional factors, we can become

1. Highly aggressive

2. Rigidly judicious

3. Passively righteous

4. Better handlers of negativity
Options :

21052936389. 1

21052936390. 2

21052936391.3

21052936392. 4

Question Number : 49 Question Id : 2105299274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Emotional maturity

1. Handles negative emotigns effectively

2. Makes a person passive

3. Makes life look darker than what it is

4. May give rise to aggressive behavior against injustice
Options :

21052936393. 1

21052936394. 2

21052936395. 3

21052936396. 4

Question Number : 50 Question Id : 2105299275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Developing empathy makes a person

1. Understand himself

2. Relate with others emotionally

3. Cope with stress

4. Relate to others in some imagined way
Options :

21052936397. 1

21052936398. 2

21052936399. 3

21052936400. 4

Question Id : 2105299270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105299271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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c. vl § Fdp
el famea 94 :
1. Had A R B
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Options :
21052936381. 1
21052936382. 2

21052936383. 3
21052936384. 4

Question Number : 47 Question Id : 2105299272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T Y9 Y Wgad a7 gHRI iy 9 5 HFf 92 o¥d © 7
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Options :

21052936385. 1

21052936386. 2

21052936387. 3

21052936388 4




Question Number : 48 Question Id : 2105299273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. T AHHD
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Options :

21052936389. 1

21052936390. 2

21052936391. 3

21052936392 4

Question Number : 49 Question Id : 2105299274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

21052936393. 1

21052936394 2

21052936395. 3

21052936396, 4

Question Number : 50 Question Id : 2105299275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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4, T wreaiFe 9 H gl 9 951
Options :

21052936397. 1

21052936398. 2

21052936399. 3

21052936400. 4

PART II English
Section Id : 210529114
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 94
Number of Questions to be attempted : 94
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529359
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105299276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Inductive method differs from deductive method in drawing its conelusion from

(1) Verification (2) Particular instances
(3) Applications Y] General truths
Options :

21052936401. 1
21052936402. 2
21052936403. 3
21052936404. 4

Question Number : 51 Question Id : 2105299276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Inductive method differs from deductive method in drawing its conclusion from

(1) Verification (2) Particular instances
(3) Applications 4 General truths
Options :

21052936401. 1
21052936402. 2
21052936403. 3
21052936404. 4

Question Number : 52 Question Id : 2105299277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following information has now been excluded while making an entry for a book
in the 8 edition of MLA Hand book for Writers of Research Papers?

(1) Year of publication (2) Place of publication
(3) Name of the publisher (4) Omssion of sabtitle
Options :

21052936405. 1
210529364006. 2
21052936407. 3
21052936408. 4

Question Number : 52 Question Id : 2105299277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following information has now been excluded while making an entry for a book
in the 8 edition of MLA Hand book for Writers of Research Papers?

(1) Year of publication (2) Place of publication
(3) Name of the publisher (4) Omission of subtitle
Options :

21052936405. 1
21052936406. 2
21052936407. 3
21052936408. 4

Question Number : 53 Question Id : 2105299278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following journals deals with the analysis of only theoretical concepts?

(1) Granta (2) Manoa
(3 boundary 2 (4) Arethusa
Options :

21052936409. 1
21052936410. 2
21052936411. 3
21052936412. 4



Question Number : 53 Question Id : 2105299278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following journals deals with the analysis of only theoretical concepts?

(1) Granta (2) Manoa
(3) boundary 2 4) Arethusa
Options :

21052936409. 1
21052936410. 2
21052936411. 3
21052936412. 4

Question Number : 54 Question Id : 2105299279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements by Roman Jacobson is true about metaphor and
metonymy?

(1) Metaphor 1s alien to the continuity disorder whereas metonymy is alien to similarity
disorder

(2) Metaphor is alien to the similarity disorder and metonymy to the continuity disorder

(3 Metaphor is alien to both similarity disorder and continuity disorder and metonymy
1s common to both

(4) Metaphor 1= common to both similarity disorder and continuity disorder but
metonymy is alien to both
Options :
21052936413. 1
21052936414. 2
21052936415. 3
21052936416. 4

Question Number : 54 Question Id : 2105299279 Question TypelsMCQ Option Shuffling : No'IsiQuestion Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements by Roman Jagobson i8 true &bout metaphor and
metonymy?

(1 Metaphor 1s alien to the continuity disorder whereas metonymy 1s alien to similarity
disorder

(2) Metaphor is alien to the similarity disorder and metonymy to the continuity disorder

(3) Metaphor is alien to both similarity disorder and continuity disorder and metonymy
is common to both

(4) Metaphor 1= common to both similarity disorder and continuity disorder but
metonymy is alien to both
Options :
21052936413. 1
21052936414. 2
21052936415. 3
21052936416. 4

Question Number : 55 Question Id : 2105299280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following theorists defines novel as “a phenomenon multiform in style and
variform in speech and voice™?

(1) E.M. Forster {2) Henry James
(3) Mikhail Bakhtin (4) Eric Auerbach
Options :

21052936417. 1
21052936418. 2



21052936419. 3
21052936420. 4

Question Number : 55 Question Id : 2105299280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following theorists defines novel as “a phenomenon multiform in style and
variform in speech and voice™?

(1) E.M. Forster {2) Henry James
(3) Mikhail Bakhtin (4) Eric Auerbach
Options :

21052936417. 1
21052936418. 2
21052936419.3
21052936420. 4

Question Number : 56 Question Id : 2105299281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following eritics is said to have developed the notion of ‘Interpretive
communities?

(1) Terry Eagleton (2) Jane Tompkins
(3 Roland Barthes (4) Stanley Fish
Options :

21052936421. 1
21052936422.2
21052936423. 3
21052936424. 4

Question Number : 56 Question Id : 2105299281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Who among the following critics is said to havepdewelopedythe motion jefyinterpretive
communities'?

(1) Terry Eagleton (2) JaneTompkins
(3 Roland Barthes (4) Stanley Fish
Options :

21052936421. 1
21052936422.2
21052936423.3
21052936424. 4

Question Number : 57 Question Id : 2105299282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Metaphor differs from simile in that

(1) A comparison in metaphor is usually explicit whereas in simile it is implicit

(2) A comparison in metaphor is usually implicit whereas in simile it is explicit

(3) Neither metaphor nor simile is rooted in comparison

(4) Simile invelves superimposition while metaphor involves comparison
Options :

21052936425. 1
21052936426. 2
21052936427.3
21052936428. 4

Question Number : 57 Question Id : 2105299282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Metaphor differs from simile in that

(1) A comparison in metaphor is usually explicit whereas in gimile 1t 1s implicit

(2) A comparison in metaphor is usually implicit whereas in simile it 1s explicit

(3) Neither metaphor nor simile 1s rooted in comparison

(4) Simile involves superimposition while metaphor involves comparison
Options :

21052936425. 1
21052936426. 2
21052936427. 3
21052936428. 4

Question Number : 58 Question Id : 2105299283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The two broad divisions of reality in Plato’s theory of reality are:

(1) visible and assumable (2) 1intelligible and opinable
(3 visible and intelligible (4) intelligible and shadows
Options :

21052936429. 1
21052936430. 2
21052936431. 3
21052936432. 4

Question Number : 58 Question Id : 2105299283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The two broad divisions of reality in Plato’s theory of reality are:

(1) visible and assumable (2) 1intelligible and opinable
(3 visible and intelligible (4) intelligible and shadows
Options :

21052936429. 1
21052936430. 2
21052936431. 3
21052936432. 4

Question Number : 59 Question Id : 2105299284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following called the Poetasters’. "The rhyming friends™?

(1) Lucan (2) Horace
(3) Pindar (4) Plato
Options :

21052936433. 1
21052936434. 2
21052936435. 3
21052936436. 4

Question Number : 59 Question Id : 2105299284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following called the Poetasters’. “The rhyming friends™?

(1 Lucan (2) Horace
(3) Pindar (4) Plato
Options :

21052936433. 1



21052936434. 2
21052936435. 3
21052936436. 4

Question Number : 60 Question Id : 2105299285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following refutes Plato’s charge that poets are liars. by arguing that the poet
“nothing affirms. and therefore never lieth™?

(1) John Dryden (2) Philip Sidney
(3) (zeorge Puttenham (4) Richard Hooker
Options :

21052936437. 1
21052936438. 2
21052936439. 3
21052936440. 4

Question Number : 60 Question Id : 2105299285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following refutes Plato’s charge that poets are liars., by arguing that the poet
“nothing affirms. and therefore never lieth™?

(1) John Dryden (2) Philip Sidney
(3) George Puttenham (4) Richard Hooker
Options :

21052936437. 1
21052936438. 2
21052936439. 3
21052936440. 4

Question Number : 61 Question Id : 2105299286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following coined the term. ‘aesthetics'?

(1) Arthur Danto (2) Alexander Baumpgarten
(3) Immanuel Kant (4) David Hume
Options :

21052936441. 1
21052936442.2
21052936443. 3
21052936444. 4

Question Number : 61 Question Id : 2105299286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following coined the term. ‘aesthetics™?

(1) Arthur Danto (2) Alexander Baumgarten
(3) Immanuel Kant (4) David Hume
Options :

21052936441. 1
21052936442.2
21052936443. 3
21052936444. 4

Question Number : 62 Question Id : 2105299287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Who among the following drew attention to the role of print languages in enabling the rise
and spread of nationalism?

(1) Ernest Gellner (2) Charles Jenks
(3) Benedict Anderson (4) Frederic Jameson
Options :

21052936445. 1
21052936446. 2
21052936447. 3
21052936448. 4

Question Number : 62 Question Id : 2105299287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following drew attention to the role of print languages in enabling the rise
and spread of nationalism?

(1) Ernest Gellner (2) Charles Jenks
(3) Benedict Anderson (4) Frederic Jameson
Options :

21052936445. 1
21052936446. 2
21052936447. 3
210529364438. 4

Question Number : 63 Question Id : 2105299288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following captures accurately the view of Frankfart School of Critical

Theory?

(1) the culture industries in still in their mass audiences a capacity to question and
transform

(2) The culture industries engender passivity and, conformity among their mass

audiences
(3) Power and culture are two distinct modes of social articulation, separate from each
other
4 The analysis of culture should be divorced from politics and power relations
Options :

21052936449. 1
21052936450. 2
21052936451. 3
21052936452. 4

Question Number : 63 Question Id : 2105299288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following captures accurately the view of Frankfart School of Critical
Theory?

(1) the culture industries in still in their mass audiences a capacity to question and
transform

(2 The culture industries engender passivity and conformity among their mass
audiences

(3) Power and culture are two distinet modes of social articulation, separate from each
other

4 The analysis of culture should be divorced from politics and power relations

Options :

21052936449. 1



21052936450. 2
21052936451. 3
21052936452. 4

Question Number : 64 Question Id : 2105299289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of words correctly states the stages of communication as
envisioned by Stuart Hall in his essay “Encoding. Decoding™?

(1 Production. transference. circulation. contact. reproduction

(2) Production. circulation, realisation. consumption. reproduction

(3 Production, circulation. distribution, consumption. reproduction

(4 Production, dissemination. transference. consumption. reproduction
Options :

21052936453. 1
21052936454. 2
21052936455. 3
21052936456. 4

Question Number : 64 Question Id : 2105299289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of words correctly states the stages of communication as
envisioned by Stuart Hall in his essay “Encoding. Decoding™?

(1) Production, transference, circulation. contact, reproduction

(2) Production. circulation. realisation. consumption, reproduction

(3) Production, circulation. distribution, consumption. reproduction

(4) Production, dissemination. transference. consumption. reproduction
Options :

21052936453. 1
21052936454. 2
21052936455. 3
21052936456. 4

Question Number : 65 Question Id : 2105299290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following held that “the people of Hindustan™ are “a race of men lamentably
degenerate and base. retaining but a feeble sense of moral obligation...”?

(1) Charles Wilkins {2) Thomas Macaulay
(3) Charles Grant (4) David Hare
Options :

21052936457. 1
21052936458. 2
21052936459. 3
21052936460. 4

Question Number : 65 Question Id : 2105299290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Who among the following held that “the people of Hindustan™ are “a race of men lamentably
degenerate and base. retaining but a feeble sense of moral obligation...”?

(1) Charles Wilkins {2) Thomas Macaulay
(3) Charles Grant (4) David Hare
Options :

21052936457. 1
21052936458. 2
21052936459.3
21052936460. 4

Question Number : 66 Question Id : 2105299291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which agency among the following made a distinction between the teaching of English as a
skill and the teaching of English literature?

(1) The university Education Commission, 1948-49
(2) The Secondary Education Commission, 1952-53
(3 Indian Universities Commission, 1902
(4) The Education Commission, 1964-66

Options :

21052936461. 1

21052936462. 2

21052936463. 3
21052936464. 4

Question Number : 66 Question Id : 2105299291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which agency among the following made a distinetion between the teaching of English as a
skill and the teaching of English literature?

(1) The university Education Commission, 1948-49
(2) The Secondary Education Commission, 1952-53
(3 Indian Universities Commission, 1902
(4) The Education Commission, 1964-66

Options :

21052936461. 1

21052936462. 2

21052936463. 3
21052936464. 4

Question Number : 67 Question Id : 2105299292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which agency among the following was of the view that “use of English--- divides the people
into two nations, the few who govern and the many who are governed™?
(1) The Kunzru Committee (1955)
(2) The Education Commission (1948)
(3) The Education commission (1964-66)
(4) The working Group (UGC) on Regional Languages (1978)
Options :
21052936465. 1
21052936466. 2

21052936467. 3
21052936468. 4



Question Number : 67 Question Id : 2105299292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which agency among the following was of the view that “use of English--- divides the people
into two nations, the few who govern and the many who are governed™?
(1) The Kunzru Committee (1955)
(2) The Education Commission (1948)
(3) The Education commission (1964-66)
(4) The working Group (UGC) on Regional Languages (1978)
Options :
21052936465. 1
21052936466. 2

21052936467. 3
21052936468. 4

Question Number : 68 Question Id : 2105299293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of The Complete Plain Words?

(1) Samuel Jhonson (2) Daniel Jones
(3) Ernest Gowers (4) Michael Everson
Options :

21052936469. 1
21052936470. 2
21052936471.3
21052936472. 4

Question Number : 68 Question Id : 2105299293 Question Type : MCQ Option;Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of The Complete Plain Words?

(1) Samuel Jhonson (2) Daniel Jones
(3) Ernest Gowers (4) Michael Everson
Options :

21052936469. 1
21052936470. 2
21052936471. 3
21052936472. 4

Question Number : 69 Question Id : 2105299294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following has coined the term. ‘genderlect'?

(1) Lydia Callis (2) EKate Burridge
(3) Deborah Tannen (4) Mary Haas
Options :

21052936473. 1
21052936474.2
21052936475. 3
21052936476. 4

Question Number : 69 Question Id : 2105299294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Who among the following has coined the term. ‘genderlect’?

(1) Lydia Callis (2) Kate Burridge
(3) Deborah Tannen (4) Mary Haas
Options :

21052936473. 1
21052936474.2
21052936475. 3
21052936476. 4

Question Number : 70 Question Id : 2105299295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Nice day again, isn't 1t?” This sentence is an example of:

(1) Code-switching (2) Multiple negation
(3) Phatic communication (4) Nominalization
Options :

21052936477. 1
21052936478. 2
21052936479. 3
21052936480. 4

Question Number : 70 Question Id : 2105299295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Nice day again. isn't it?” This sentence is an example of:

(1) Code-switching (2) Multiple negation
(3 Phatic communication (4y Nominalization
Options :

21052936477. 1
21052936478. 2
21052936479. 3
21052936480. 4

Question Number : 71 Question Id : 2105299296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Language allows us to talk about the things and events not present in immediate
environment. Which of the following terms describes this property of language?

(1) Arbitrariness (2) Displacement
(3) Productivity (4) Discreteness
Options :

21052936481. 1
21052936482. 2
21052936483. 3
21052936484. 4

Question Number : 71 Question Id : 2105299296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Language allows us to talk about the things and events not present in immediate
environment. Which of the following terms describes this property of language?

(1) Arbitrariness (2) Displacement
(3) Productivity (4) Discreteness
Options :

21052936481. 1



21052936482. 2
21052936483. 3
21052936484. 4

Question Number : 72 Question Id : 2105299297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In "Advancement of learning” Francis Bacon divides poetry into three divisions :

() Philosophical, religious. imaginative (2) Epic, dramatie, lyrical

(3) Narrative, representative, allusive (4) Odes, sonnets. eclogues

Options :

21052936485. 1
21052936486. 2
21052936487. 3
21052936488. 4

Question Number : 72 Question Id : 2105299297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In “Advancement of learning” Francis Bacon divides poetry into three divisions :

(D Philosophical, religious, imaginative (2) Epic, dramatie, lyrical

(3) Narrative. representative, allusive (4) Odes. sonnets. eclogues

Options :

21052936485. 1
21052936486. 2
21052936487. 3
21052936488. 4

Question Number : 73 Question Id : 2105299298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of these essays by Ezra Pound defines an Image as “that which presents an
intellectual and emotional complex in an instant of time™?

(1) “A Retrospect™ (2) “The Tradition”
(3) “The Renaissance” (4 “How to Read”
Options :

21052936489. 1
21052936490. 2
21052936491. 3
21052936492. 4

Question Number : 73 Question Id : 2105299298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of these essays by Ezra Pound defines an Image as “that which presents an
intellectual and emotional complex in an instant of time"?

(1) “A Retrospect” (2) “The Tradition”
(3) “The Renaissance” (4 “How to Read”
Options :

21052936489. 1
21052936490. 2
21052936491. 3
21052936492. 4

Question Number : 74 Question Id : 2105299299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Who wrote the essay “Naipaul's India and Mine” (1984) as a reply to V.S. Naipaul's An Area
of Darkness?

(1) A K. Ramanujan (2) Nissim Ezekiel
(3) Navantara Sahgal (4) Mahesh Dattam
Options :

21052936493. 1
21052936494. 2
21052936495. 3
21052936496. 4

Question Number : 74 Question Id : 2105299299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who wrote the essay “Naipaul's India and Mine” (1984) as a reply to V.S. Naipaul's An Area
of Darkness?

(1) A K. Ramanujan (2) Nissim Ezekiel
(3) Navantara Sahgal (4) Mahesh Dattam
Options :

21052936493. 1
21052936494. 2
21052936495. 3
21052936496. 4

Question Number : 75 Question Id : 2105299300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following short stories by Jorge Luis Borges has its epigraph from The Anatomy

of Melancholy?

(1) “Borges and I” (2) “Death and the Compass”
(3)  “The Library of Babel” (4) “The Garden of Forking Paths”
Options :

21052936497. 1
21052936498. 2
21052936499. 3
21052936500. 4

Question Number : 75 Question Id : 2105299300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following short stories by Jorge Luis Borges has its epigraph from The Anatomy
of Melancholy?

(1) “Borges and I (2) “Death and the Compass”
(3) “The Library of Babel” (4) “The Garden of Forking Paths”
Options :

21052936497. 1
21052936498. 2
21052936499. 3
21052936500. 4

Question Number : 76 Question Id : 2105299301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How does Christ respond to the Grand Inquisitor’s accusations in Brothers Karamazouv?

(1) He kneels before the Grand Inquisitor
(2) He kisses the Grand Inquisitor on his lips

(3) He begins to weep in remorse

(4) He says. “Mea culpa. mia culpa. mia maxima culpa”
Options :

21052936501. 1
21052936502. 2
21052936503. 3
21052936504. 4

Question Number : 76 Question Id : 2105299301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How does Christ respond to the Grand Inquisitor’s accusations in Brothers Karamazouv?

(1) He kneels before the Grand Inquisitor
(2) He kisses the Grand Inquisitor on his lips

(3) He begins to weep In remorse
(4) He says, "Mea culpa, mia culpa. mia maxima culpa”
Options :

21052936501. 1
21052936502. 2
21052936503. 3
21052936504. 4

Question Number : 77 Question Id : 2105299302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which short story does the narrator witness .a consumpfive young man named
Mr. Shaynor recreate “The Eve of St. Agnes” in a trance?

(1) E.M. Forster’s “The Eternal Moment”

(2) Rudyard Kipling's “Wireless”

(3) Somerset Maugham's “The Creative Impulse”

(4) Aldous Huxley's “The Bookshop”

Options :

21052936505. 1
21052936506. 2
21052936507. 3
21052936508. 4

Question Number : 77 Question Id : 2105299302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which short story does the narrator witness a consumptive young man named
Mr. Shaynor recreate “The Eve of St. Agnes™ in a trance?

(1) E.M. Forster’s “The Eternal Moment”

(2) Rudyard Kipling's “"Wireless”

(3) Somerset Maugham's “The Creative Impulse”

(4) Aldous Huxley's “The Bookshop”

Options :

21052936505. 1
21052936506. 2
21052936507. 3
21052936508. 4



Question Number : 78 Question Id : 2105299303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Myr. Pumblechook is a character in:

(1) Little Dorret (2) Nicholas Nickleby
(3) Hard Times (4) Great Expectations
Options :

21052936509. 1
21052936510. 2
21052936511. 3
21052936512. 4

Question Number : 78 Question Id : 2105299303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mr. Pumblechook is a character in:

(1) Little Dorret (2) Nicholas Nickleby
(3) Hard Times (4) Great Expectations
Options :

21052936509. 1
21052936510. 2
21052936511. 3
21052936512. 4

Question Number : 79 Question Id : 2105299304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

To which of these boarding schools 1s Jane Eyre sent by her aunt Mrs. Reed?

(1)  Lowood School (2) Hailsham school
(3) Abbey Mount (4) Gr;ey&iar’g Sch-be_)l
Options :

21052936513. 1
21052936514. 2
21052936515. 3
21052936516. 4

Question Number : 79 Question Id : 2105299304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

To which of these boarding schools 1s Jane Eyre sent by her aunt Mrs. Reed?

(1) Lowood School (2) Hailsham school
(3) Abbey Mount (4) Grevfriar's School
Options :

21052936513. 1
21052936514.2
21052936515.3
21052936516. 4

Question Number : 80 Question Id : 2105299305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following short stories by Edgar Allan Poe has a narrator who has a rival with
the same name and uncanny physical resemblance?

(1) “Hop-Frog”

(2) “William Wilson™

(3 “The System of Doctor Tarr and Professor Fether"

(4) “The Imp of the Perverse”

Options :

21052936517. 1
21052936518. 2
21052936519. 3
21052936520. 4

Question Number : 80 Question Id : 2105299305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following short stories by Edgar Allan Poe has a narrator who has a rival with
the same name and uncanny physical resemblance?

(1) “Hop-Frog”

(2) “William Wilson™

(3 “The System of Doctor Tarr and Professor Fether"

(4) “The Imp of the Perverse”

Options :

21052936517. 1
21052936518. 2
21052936519. 3
21052936520. 4

Question Number : 81 Question Id : 2105299306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What does the titular Setebos in Robert Browning's Cﬂhban upon Setebos” xeferm’?

(1) The original name of Sycorax. Caliban’s mother
(2) The brutal god in whom Caliban believes
(3) The name of the island in which Caliban lives
(4) The monster whom Caliban is afraid of

Options :

21052936521. 1

21052936522. 2

21052936523. 3
21052936524. 4

Question Number : 81 Question Id : 2105299306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What does the titular Setebos in Robert Browning's “Caliban upon Setebos” refer to?

(1) The original name of Sycorax. Caliban’s mother
(2) The brutal god in whom Caliban believes

(3) The name of the island in which Caliban lives
(4) The monster whom Caliban is afraid of

Options :
21052936521. 1



21052936522. 2
21052936523. 3
21052936524. 4

Question Number : 82 Question Id : 2105299307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following poems by Philip Larkin ends with the line “Never such innocence

again”?

(1) “An Arundel Tomb" (2) “MCMXIV"

(3) “This Be the Verse” (4) “Aubade”
Options :

21052936525. 1
21052936526. 2
21052936527.3
21052936528. 4

Question Number : 82 Question Id : 2105299307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following poems by Philip Larkin ends with the line “Never such innocence

again”?

(1) “An Arundel Tomb" (2) “MCMXIV"

(3) “This Be the Verse” (4) “Aubade”
Options :

21052936525. 1
21052936526. 2
21052936527.3
21052936528. 4

Question Number : 83 Question Id : 2105299308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true in relation to Edmund Si:epser's Faerie Q@ ene?

(1) A letter addressed to Sir Walter Raleigh was prefixed to the 1590 edition of the
poem

(2) A letter addressed to Sir Walter Raleigh was appended to the 1590 edition of the
poem

(3) A letter addressed to Sir Walter Raleigh was prefixed to the 1596 edition of the
poem

(4) A letter addressed to Sir Walter Raleigh was appended to the 1596 edition of the
poem

Options :

21052936529. 1
21052936530. 2
21052936531. 3
21052936532. 4

Question Number : 83 Question Id : 2105299308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is true in relation to Edmund Spenser's Faerie Queene?

(1 A letter addressed to Sir Walter Raleigh was prefixed to the 1590 edition of the
poem

(2) A letter addressed to Sir Walter Raleigh was appended to the 1590 edition of the
poem

(3) A letter addressed to Sir Walter Raleigh was prefixed to the 1596 edition of the
poem

4) A letter addressed to Sir Walter Raleigh was appended to the 1596 edition of the
poem

Options :

21052936529. 1
21052936530. 2
21052936531. 3
21052936532. 4

Question Number : 84 Question Id : 2105299309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who was Milton's model when he recast the first edition (1667) of Paradise Lost in 10 books

to 12 books of the second edition (1674)?

(1) Lucan (2) Ownid
(3) Virgil (4) Homer
Options :

21052936533. 1
21052936534. 2
21052936535. 3
21052936536. 4

Question Number : 84 Question Id : 2105299309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who was Milton’s model when he recast the first edition (1667) of Paradise Eosfin 10 books

to 12 books of the second edition (1674)?

(1) Lucan (2) Owd
(3) Virgil (4) Homer
Options :

21052936533. 1
21052936534. 2
21052936535. 3
21052936536. 4

Question Number : 85 Question Id : 2105299310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Harold Pinter’s play The Birthday Party, who suggests the idea of having a birthday
party?

(1) Meg (2) Goldberg
(3) Lulu (4) McCann
Options :

21052936537. 1
21052936538. 2
21052936539. 3
21052936540. 4

Question Number : 85 Question Id : 2105299310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In Harold Pinter’'s play The Birthday Party, who suggests the idea of having a birthday
party?

(1) Meg (2) Goldberg
(3) Lulu (4) McCann
Options :

21052936537. 1
21052936538. 2
21052936539. 3
21052936540. 4

Question Number : 86 Question Id : 2105299311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following characters instruet Faustus in the dark arts?

(1) Robin and Rafe (2) Cornelius and Valdes
(3 Wagner and Bruno (4) 0Old Man and Evil Angel
Options :

21052936541. 1
21052936542. 2
21052936543. 3
21052936544. 4

Question Number : 86 Question Id : 2105299311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following characters instruct Faustus in the dark arts?

(1) Robin and Rafe (2) Cornelius and Valdes
(3) Wagner and Bruno (4) Old Manand Evil Angel
Options :

21052936541. 1
21052936542. 2
21052936543. 3
21052936544. 4

Question Number : 87 Question Id : 2105299312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the content of the suitcases that Lucky carries in the second Act of Waiting for
Godot?

(1) Books (2) Pozzo's Clothing
(3) Sand (4) Tiny Skulls
Options :

21052936545. 1
21052936546. 2
21052936547. 3
21052936548. 4

Question Number : 87 Question Id : 2105299312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What is the content of the suitcases that Lucky carries in the second Act of Waiiing for
Godot?

(1) Books (2) Pozzo's Clothing
(3) Sand (4) Tiny Skulls
Options :

21052936545. 1
21052936546. 2
21052936547. 3
21052936548. 4

Question Number : 88 Question Id : 2105299313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which Act of William Congreve's The Way of the World does the Proviso scene between
Mirabell and Millamant take place?

(1) Actl (2) Actll
(3) Act ITI (4) ActIV
Options :

21052936549. 1
21052936550. 2
21052936551. 3
21052936552. 4

Question Number : 88 Question Id : 2105299313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which Act of William Congreve's The Way of the World does the Proviso scene between
Mirabell and Millamant take place?

(1) ActI (2) Aetll
(3) Act III (4) ActIV
Options :

21052936549. 1
21052936550. 2
21052936551. 3
21052936552. 4

Question Number : 89 Question Id : 2105299314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s correct in relation to Shakespeare's works?

(1) The Folio edition appeared in the sixteenth century and the ‘quartos’ appeared in the
seventeenth century

(2) The 'quartos' appeared during his lifetime and the Folio edition appeared
posthumously

(3) The Folio edition appeared during his lifetime and the ‘guartos’ appeared
posthumously

(4) The ‘quartos’ refer to works written between 1594 and 1599, and the Folio includes
works written between 1608 and 1613

Options :

21052936553. 1
21052936554. 2
21052936555. 3
21052936556. 4

Question Number : 89 Question Id : 2105299314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements 1s correct in relation to Shakespeare's works?

(1) The Folio edition appeared in the sixteenth century and the ‘quartos’ appeared in the
seventeenth century

(2) The 'quartos' appeared during his lifetime and the Folio edition appeared
posthumously

(3) The Folio edition appeared during his lifetime and the ‘guartos’ appeared
posthumously

(4) The ‘guartos’ refer to works written between 1594 and 1599, and the Folio includes
works written between 1608 and 1613

Options :

21052936553 1
21052936554. 2
21052936555. 3
21052936556. 4

Question Number : 90 Question Id : 2105299315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of the short play. The Dark Lady of the Sonnets?

(1) Ben Jonson (2) George Bernard Shaw
(3 Oscar Wilde (4) Oliver Goldsmith
Options :

21052936557. 1
21052936558. 2
21052936559. 3
21052936560. 4

Question Number : 90 Question Id : 2105299315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of the short play. The Dark Lady of the Som;ets’?

(1) Ben Jonson (2) George Bernard Shaw
(3) Oscar Wilde {4) Oliver Goldsmith
Options :

21052936557. 1
21052936558. 2
21052936559. 3
21052936560. 4

Question Number : 91 Question Id : 2105299316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two of the following citations conform to the documentation format of the eighth

edition of the MLA Hand book?
(A) Baron, Naomi S. “Redefining Reading: The impact of Digital Communication Media”.
PMLA, vol 128 no.1, Jan.2013,PP. 193-200.

(B) Adichie, Chimamanda Ngosi. “On Monday of Last Week”, The Thing Around Your
Neck. London: Knopf, 2009. 74-94

(C) Baron, Naomi S. “Redefining Reading: The impact of Digital communication Media”.
PMLA 128.1 (2013): 193-200.

(D) Adichie, Chimamanda Ngosi “On Monday of Last Week”. The Thing Around Your
Neck, Alfred A. Knopf, 2009, PP. 74-94.

Choose the correct answer from the options given below:

(1) (A) and (B) only (2) (A) and (D) only
(3) (B) and (C) only 4) (C)and (D) only
Options :

21052936561. 1
21052936562. 2
21052936563. 3
21052936564. 4

Question Number : 91 Question Id : 2105299316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following citations conform to the documentation format of the eighth

edition of the MLA Hand book?
(A) Baron, Naomi S. “Redefining Reading: The mmpact of Digital Communication Media”.
PMLA, vol 128,n0.1, Jan.2013,PP. 193-200"

(B) Adichie, Chimamanda Ngosi. “On Monday.ef Last We’ek.’",_.ﬂse Thing Around Your
Neck. London: Knopf, 2009. 74-94

(C) Baron, Naomi S. “Redefining Reading: The impact of Digital communication Media”.
PMLA 128.1 (2013): 193-200.

(D) Adichie, Chimamanda Ngosi “On Monday of Last Week”. The Thing Around Your
Neck, Alfred A. Knopf, 2009, PP. 74-94.

Choose the correct answer from the options given below:

(1) (A) and (B) only (2) (A) and (D) only
(3) (B) and (C) only 4) (C)and (D) only
Options :

2112)52936561. 1

21052936562. 2
21052936563. 3
21052936564. 4

Question Number : 92 Question Id : 2105299317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



While assembling a working bibliography which two of the following reference sources will
be particularly useful to a literary researcher?

(A) MLA International Bibliography

(B) New Princeton Encyclopaedia of Poetry and Poetics
(C) Library of Congress Catalogue

(D)  Reader’s Guide to Periodical Literature

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (A) and (D) only (4) (C) and (D) only
Options :

21052936565. 1
21052936566. 2
21052936567. 3
21052936568. 4

Question Number : 92 Question Id : 2105299317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

While assembling a working bibliography which two of the following reference sources will
be particularly useful to a literary researcher?

(A) MLA International Bibliography

(B) New Princeton Encyclopaedia of Poetry and Poetics
(C) Library of Congress Catalogue

(D)  Reader’s Guide to Periodical Literature

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (A) and (D) only (4) (C) and (D) only
Options :

21052936565. 1
21052936566. 2
21052936567. 3
21052936568. 4

Question Number : 93 Question Id : 2105299318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following periodicals are devoted to feminist theoretical discussion?
(A) Spectrum

(B Signs

(C Chrysalis

(D) Transition

Choose the correct answer from the options given below

(1) (B) and (C) only (2) (A)and (C) only
(3) (B) and (D) only (4) (A)and (D) only
Options :

21052936569. 1
21052936570. 2
21052936571.3
21052936572. 4

Question Number : 93 Question Id : 2105299318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two of the following periodicals are devoted to feminist theoretical discussion?

(A) Spectrum

(B) Signs
(C) Chrysalis
(D) Transition

Choose the correct answer from the options given below

(1) (B) and (C) only (2) (A)and (C) only
(3) (B) and (D) only (4) (A)and (D) only
Options :

21052936569. 1
21052936570. 2
21052936571. 3
21052936572. 4

Question Number : 94 Question Id : 2105299319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following features shall apply to Roland Barthes’s notion of a ‘writerly text’?

(A) In case of writerly text, the reader accepts the meaning without too much reading
effort

(B) A writerly text tends to focus attention on what is written

(C) A writerly text makes the reader a producer

(D) A writerly text tends to be self-conscious.

Choose the correct answer from the options given below:

o)) (A) and (B) Only (2) . (B) and (C) Only
(3) (A) and (C) Only (4) (C)and @»Only
Options :

21052936573. 1
21052936574.2
21052936575. 3
21052936576. 4

Question Number : 94 Question Id : 2105299319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following features shall apply to Roland Barthes’s notion of a ‘writerly text’?

(A) In case of writerly text, the reader accepts the meaning without too much reading
effort

(B) A writerly text tends to focus attention on what is written

(C) A writerly text makes the reader a producer

(D) A writerly text tends to be self-conscious.

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (A) and (C) Only (4) (C) and (D) Only
Options :

21052936573. 1
21052936574.2



21052936575. 3
21052936576. 4

Question Number : 95 Question Id : 2105299320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A deconstructive reading of a text shows that

(A) a text 1z to be read always In a context

(B) there is nothing except the text

(C) a text may betray itself

(D) a text may possess an ascertainable meaning

(E) there is an endless postponement of meaning

Choose the correct answer from the options given below :

(1) (A). (B) and (C) Only (2)  (C). (D) and (E) Only
(3) (B). (C) and (E) Only (4) (B), (C) and (D) Only
Options :

21052936577. 1
21052936578. 2
21052936579. 3
21052936580. 4

Question Number : 95 Question Id : 2105299320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A deconstructive reading of a text shows that

(A) a text is to be read always in a context

(B) there is nothing except the text

(C) a text may betray itself

(D) a text may possess an ascertainable meaning

(E) there is an endless postponement of meaning

Choose the correct answer from the options given belows

(1) (A). (B) and (C) Only (2)  (C). (D) and (E) Only
(3) (B). (C) and (E) Only (4) (B). (C)and (D) Only
Options :

21052936577. 1
21052936578. 2
21052936579. 3
21052936580. 4

Question Number : 96 Question Id : 2105299321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two of the following edited the defining work of third-wave feminism, This Bridge
Called My Back: Writings by Radical Women of Color?

(A) Audre Lorde

(B) Barbara Smith
(C) Gloria Anzaldua
(D) Cherrie Moraga

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (C) and (D) Only
(3) (A) and (C) Only (4) (B) and (D) Only
Options :

21052936581. 1
21052936582. 2
21052936583. 3
21052936584. 4

Question Number : 96 Question Id : 2105299321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

Which two of the following edited the defining work of third-wave feminism, This Bridge
Called My Back: Writings by Radical Women of Color?

(A) Audre Lorde

(B) Barbara Smith

(C) Gloria Anzaldua

(D) Cherrie Moraga

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (C) and (D) Only
(3) (A) and (C) Only (4) (B) and (D) Only
Options :

21052936581. 1
21052936582. 2
21052936583. 3
21052936584. 4

Question Number : 97 Question Id : 2105299322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following poets defended poetry against Plato's denigration of Poetry?
(A) John Dryden

(B) P.B. Shelley

(C) T.S.Elot

(D) Philip Sidney

Choose the most appropriate answer from the options given below :

(1) (B) and (D) Only (2) (A)and (B) Only
(3) (B) and (C) Only (4) (C)and (A) Only

Options :



21052936585. 1
21052936586. 2
21052936587. 3
21052936588. 4

Question Number : 97 Question Id : 2105299322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the following poets defended poetry against Plato's denigration of Poetry?

(A) John Dryden
(B) P.B. Shelley
(©) T.S. Eliot

(D) Philip Sidney

Choose the most appropriate answer from the options given below :

(1) (B) and (D) Only (2) (A)and (B) Only
(3) (B) and (C) Only (4) (C)and (A) Only
Options :

21052936585. 1
21052936586. 2
21052936587. 3
21052936588. 4

Question Number : 98 Question Id : 2105299323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the following are Samuel Johnson's statements about metaphysical poets?

(A) they were singular in their thoughts

(B)  they were careful in their diction

(C) they effected combination of dissimilar images
(D) they avoided occult resemblances

Choose the most appropriate answer from the options;givén below :

(1) (B) and (C) Only (2) (C)and (D) Only
(3) (B) and (A) Only (4) (A)and (C) Only
Options :

21052936589. 1
21052936590. 2
21052936591. 3
21052936592. 4

Question Number : 98 Question Id : 2105299323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks :
Which two of the following are Samuel Johnson's statements about metaphysical poets?

(A)  they were singular in their thoughts
(B) they were careful in their diction
(C) they effected combination of dissimilar images

(D) they avoided occult resemblances

Choose the most appropriate answer from the options given below :

(1) (B) and (C) Only (2)  (C)and (D) Only
(3) (B) and (A) Only (4) (A)and (C) Only
Options :

21052936589. 1

No



21052936590. 2
21052936591. 3
21052936592 4

Question Number : 99 Question Id : 2105299324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following plays are mentioned in T.S. Eliot’s “Tradition and Individual
Talent™?

(A) Agamemnon

(B) Antigone

(©) Othello

(D) Dr. Faustus

Choose the correct answer from the options given below :

(1) (A) and (D) Only (2) (&) and (C) Only
(3) (B) and (C) Only (4) (B) and (D) Only
Options :

21052936593. 1
21052936594. 2
21052936595. 3
21052936596. 4

Question Number : 99 Question Id : 2105299324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following plays are mentioned in T.S. Eliot’s “Tradition and Individual
Talent”?

(A) Agamemnon

(B) Antigone

(© Othello

(D) Dr. Faustus

Choose the correct answer from the options given belows

(1) (A) and (D) Only (2) (A and (C) Only
(3) (B) and (C) Only (4) (B) and (D) Only
Options :

21052936593. 1
21052936594. 2
21052936595. 3
21052936596. 4

Question Number : 100 Question Id : 2105299325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following essays have proved particularly productive in the disciplinary
practices of Cultural Studiea?

(A) Laura Mulvey. “Visual Pleasure and Narrative Cinema”
(B) Viktor Shklovsky, “Art as Technique”

(C) Sigmund Freud. “The Uncanny”

(D) Stuart Hall. “Encoding/decoding™

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (A) and (D) Only (4) (A)and (C) Only
Options :

21052936597. 1



21052936598. 2
21052936599. 3
21052936600. 4

Question Number : 100 Question Id : 2105299325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following essays have proved particularly productive in the disciplinary
practices of Cultural Studies?

(A) Laura Mulvey. “Visual Pleasure and Narrative Cinema”
(B) Viktor Shklovsky, “Art as Technique”

(C) Sigmund Freud. “The Uncanny”

(D) Stuart Hall, “Encoding/decoding™

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) {A) and (D) Only (4) (A) and (C) Only
Options :

21052936597. 1
21052936598. 2
21052936599. 3
21052936600. 4

Question Number : 101 Question Id : 2105299326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of these following statements are true about Pidgin and Creole?

(A) Pidgin begins as Crecle and eventually becomes the first lansuage of a speech

community

(B) Creole begins as Pidgin and eventually becomes the fifst langliage of a speech
community

(C) Pidgin is simple but a rule governed language developed for communieation whereas
Creole in free from grammatical rules

(D) Pidgin and Creole evolve successively out of a situation where speakers of mutually

unintelligible languages develop a shared language for communication (often based

on one of those languages)

Choose the correct anawer from the options given below :

(1) (A) and (B) Only
(2) (B) and (D) Only
(3) (C) and (D) Only

(4) (A) and (D) Only
Options :
21052936601. 1
21052936602. 2
21052936603. 3
21052936604. 4

Question Number : 101 Question Id : 2105299326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of these following statements are true about Pidgin and Creole?
(A) Pidgin begins as Crecle and eventually becomes the first language of a speech
community

(B) Creole begins as Pidgin and eventually becomes the first language of a speech

community

(C) Pidgin is simple but a rule governed language developed for communication whereas

Creole in free from grammatical rules

(D) Pidgin and Creole evolve successively out of a situation where speakers of mutually
unintelligible languages develop a shared language for communication (often based

on one of those languages)

Choose the correct anawer from the options given below :

(1) (A) and (B) Only
(2) (B) and (D) Only
(3) (C) and (D) Only

(4) (A) and (D) Only
Options :
21052936601. 1
21052936602. 2
21052936603. 3
21052936604. 4

Question Number : 102 Question Id : 2105299327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following words are borrowed into English from Czech?
(A) pistol

B) robot

(C) sauna

(D) coach

Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (A) and (C) Only
(3) (B) and (C) Only
(4) (A) and (D) Only

Options :

21052936605. 1
21052936606. 2
21052936607. 3
21052936608. 4

Question Number : 102 Question Id : 2105299327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two of the following words are borrowed into English from Czech?

(A) pistol
B robot
(C) sauna

(D) coach

Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (A) and (C) Only
(3) (B) and (C) Only
(4) (A) and (D) Only

Options :

21052936605. 1
21052936606. 2
21052936607. 3
21052936608. 4

Question Number : 103 Question Id : 2105299328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following meanings are admissible for the following sentences :
“You do not know how good oysters taste”

(A) You do not know that oysters taste good as food
(B) You do not know how the ovsters taste when cooked
(C) You do not know what the oysters taste when they eat

(D) You do not know how the good oysters taste when they eat

Choose the most appropriate answer from the options gtwnbeiﬁw ]

(1) (A) and (D) Only {2) (B)and (C) Only
(3)  (B)and (D) Only (4) (C)and (D) Only
Options :

21052936609. 1
21052936610. 2
21052936611. 3
21052936612. 4

Question Number : 103 Question Id : 2105299328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following meanings are admissible for the following sentences :
“You do not know how good oysters taste”

(A) You do not know that oysters taste good as food
(B) You do not know how the oysters taste when cooked
(C) You do not know what the oysters taste when they eat

(D) You do not know how the good oysters taste when they eat

Choose the most appropriate answer from the options given below :

(1) (A) and (D) Only (2) (B)and (C) Only
(3) (B) and (D) Only (4) (C)and (D) Only
Options :

21052936609. 1



21052936610. 2
21052936611. 3
21052936612. 4

Question Number : 104 Question Id : 2105299329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following works are Daniel Defoe's historical narratives?
(A) History of the Rebellion
(B) Meditations on a Broomstick

(Cy A Journal of the Plague Year

(D) Memories of a Cavalier

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (B) and (D) Only (4) (C)and (D) Only
Options :

21052936613. 1
21052936614. 2
21052936615. 3
21052936616. 4

Question Number : 104 Question Id : 2105299329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following works are Daniel Defoe’s historical narratives?
(A) History of the Rebellion
(B) Meditations on a Broomstick

(Cy A Journal of the Plague Year
(D) Memories of a Cavalier

Choose the correct answer from the options given belows

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (B) and (D) Only {(4) (C)and (D) Only
Options :

21052936613. 1
21052936614. 2
21052936615. 3
21052936616. 4

Question Number : 105 Question Id : 2105299330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are non-fictional works by Peter Ackroyd?
(A) Escape from Earth

(B) The Great Fire of London

(C) The English Ghost

(D)  English Music

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)yand (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936617. 1



21052936618. 2
21052936619. 3
21052936620. 4

Question Number : 105 Question Id : 2105299330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are non-fictional works by Peter Ackroyd?
(A) Escape from Earth
(B) The Great Fire of London

(C) The English Ghost
(D)  Enghsh Music

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936617. 1
21052936618. 2
21052936619. 3
21052936620. 4

Question Number : 106 Question Id : 2105299331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following were published in the year 18592

(A) On the Origin of Species
(B) A Tale of Two Citles

(C) Alice in Wonderland
(D) Silas Marner

Choose the correct answer from the options given below ;

(1) {A) and (B) Only (2) (A) and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936621. 1
21052936622. 2
21052936623. 3
21052936624. 4

Question Number : 106 Question Id : 2105299331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following were published in the year 1859?
(A) On the Origin of Species

(B) A Tale of Two Cities

(C) Alice in Wonderland

(D) Silas Marner

Choose the correct answer from the options given below :

(1) {A) and (B) Only (2)  (A) and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936621. 1



21052936622. 2
21052936623. 3
21052936624. 4

Question Number : 107 Question Id : 2105299332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
In his “Self-Reliance” which two qualities does Emerson refer to as “the Chancellors of God™?

(A) Truth
(B) Cause
{C) Spirit
(D) Effect

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B) and (D) Only
Options :

21052936625. 1
21052936626. 2
21052936627. 3
21052936628. 4

Question Number : 107 Question Id : 2105299332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
In his “Self-Reliance” which two qualities does Emerson refer to as “the Chancellors of God™?

(A) Truth
(B) Cause
(C) Spirit
(D)  Effect

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B) and (D) Only
Options :

21052936625. 1
21052936626. 2
21052936627. 3
21052936628. 4

Question Number : 108 Question Id : 2105299333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are part of Virginia Woolf's collection of autobiographical essays?
(4)  “A Will to Word It”
(B)  “A Sketch of the Past”

(C) “A Faint Hue of the Past”
(D) “Am I a Snob”

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)and (C)Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936629. 1



21052936630. 2
21052936631. 3
21052936632. 4

Question Number : 108 Question Id : 2105299333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are part of Virginia Woolf's collection of autobiographical essays?
(A) “A Will to Word It”
(B) “A Sketch of the Past”

(C) “A Faint Hue of the Past”
(D) “Am T a Snob”

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A) and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936629. 1
21052936630. 2
21052936631. 3
21052936632. 4

Question Number : 109 Question Id : 2105299334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following novels are part of Paul Auster’s New York Trilogy?

(A) The Book of Illusions
(B) Ghosts

(C) The Locked Raom
(D Winter Journal

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (A) and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936633. 1
21052936634. 2
21052936635. 3
21052936636. 4

Question Number : 109 Question Id : 2105299334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following novels are part of Paul Auster's New York Trilogy?

(A) The Book of Illusions
(B) Ghosts

(&) The Locked Room
(D) Winter Journal

Choose the correct anawer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936633. 1



21052936634. 2
21052936635. 3
21052936636. 4

Question Number : 110 Question Id : 2105299335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Joyce Cary's The Horses Mouth. considered by many to be his masterpiece, is part of a
trilogy of novels. Which two titles from the following list belong to this trilogy?

(4)  Aissa Saved

(B) To Be a Pilgrim

(C)  Herself Surprised

(D) Charley Is My Darling

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (C) and (D) Only (4) (A)and (D) Only
Options :

21052936637. 1
21052936638. 2
21052936639. 3
21052936640. 4

Question Number : 110 Question Id : 2105299335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Joyce Cary's The Horses Mouth., considered by many to be 'his masferpiece. is part of a
trilogy of novels. Which twao titles from the following list belong to this trilogy?

(4)  Aissa Saved

(B) To Be a Pilgrim

(C) Herself Surprised

(D) Charley Is My Darling

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (C) and (D) Only (4)  (A)and (D) Only
Options :

21052936637. 1
21052936638. 2
21052936639. 3
21052936640. 4

Question Number : 111 Question Id : 2105299336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are the interludes in John Galsworthy's The Forsyte Saga (1922)

(A) To Let

(B) Indian Summer of a Forsyte
(C) Awakening

(D)  In Chancery

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only



Options :

21052936641. 1
21052936642. 2
21052936643. 3
21052936644. 4

Question Number : 111 Question Id : 2105299336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following are the interludes in John Galsworthy's The Forsyte Saga (1922)

(A  ToLet

(B) Indian Summer of a Forsyte
(C)y  Awakening

(D)  In Chancery

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2)  (A)and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936641. 1
21052936642. 2
21052936643. 3
21052936644. 4

Question Number : 112 Question Id : 2105299337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two poems in the following list are Odes Written in the Horatian manner?

(A) Ben Jonson, “To the Immortal Memory and Friendship of that Noble Pair, Sir Lucius
Cary and Sir H. Morison™

(B) Andrew Marwell, “Upon Cromwell&Return from Ireland”

(C) Alexander Pope, “Ode on Solitude”

(D) Alfred Tennyson, “Ode on the Death of the Duke of Wellington”

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only (4) (A) and (D) Only
Options :

21052936645. 1
21052936646. 2
21052936647. 3
21052936648. 4

Question Number : 112 Question Id : 2105299337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two poems in the following list are Odes Written in the Horatian manner?

(A) Ben Jonson, “To the Immortal Memory and Friendship of that Noble Pair, Sir Lucius
Cary and Sir H. Morison”

(B) Andrew Marwell, “Upon Cromwell’'s Return from Ireland”

(C) Alexander Pope, “Ode on Solitude”

(D) Alfred Tennyson, “Ode on the Death of the Duke of Wellington”

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (C) and (D) Only (4) (A) and (D) Only
Options :

21052936645. 1
21052936646. 2
21052936647. 3
21052936648. 4

Question Number : 113 Question Id : 2105299338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks :

Which two of the following poems by Seamus Heaney come under his Bog Poemsa?
(A) “Personal Helicon™

(B) “Punishment”

() “The Early Purges”

(D) “Tollund Man”

Choose the correct answer from the options given belows

(1)  (A) and (B) Only (2) (A)and (C) Only
(3)  (B)and (C) Only (4) (B) and (D) Only
Options :

21052936649. 1
21052936650. 2
21052936651. 3
21052936652 4

Question Number : 113 Question Id : 2105299338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following poems by Seamus Heaney come under his Bog Poems?
(A) “Personal Helicon™

(B) “Punishment”

(C) “The Early Purges”

(D) “Tollund Man”

Choose the correct anawer from the options given below :

(1) (A) and (B) Only (2) (A)and (C) Only
(3) (B) and (C) Only (4) (B)and (D) Only
Options :

21052936649. 1
21052936650. 2
21052936651. 3



21052936652. 4

Question Number : 114 Question Id : 2105299339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which two of the following plays does the blind seer. Tiresias. appear?

(A) Oedipus the King
(B) Agamemnon

(C) Antigone

(D)  Oedipus at Colonus

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (A) and (C) Only
(3) (B) and (C) Only (4) (C)and (D) Only
Options :

21052936653. 1
21052936654. 2
21052936655. 3
21052936656. 4

Question Number : 114 Question Id : 2105299339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which two of the following plays does the blind seer. Tiresias. appear?

(A) Oedipus the King
(B) Agamemnon

(C) Antigone

(D) Oedipus at Colonus

Choose the correct answer from the options given belov

(1)  (A)and (B) Only (2) (A)and[(C) Only
(3)  (B) and (C) Only (4) (C) and (D) Only
Options :

21052936653. 1
21052936654. 2
21052936655. 3
21052936656. 4

Question Number : 115 Question Id : 2105299340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following plays were written by John Osborne?
(A) Look Back in Anger

(B) Loot

(C) Funeral Games

D) Dejavu

Choose the correct anawer from the options given below :

(1) (A) and (B) Only
(2)  (A)and (C) Only
(3)  (A)and (D) Only
4)  (B)and (C) Only



Options :

21052936657. 1
21052936658. 2
21052936659. 3
21052936660. 4

Question Number : 115 Question Id : 2105299340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following plays were written by John Osborne?
(A)  Look Back in Anger

(B) Loot

(C) Funeral Games

(D) Dejavu

Choose the correct answer from the options given below :

(1) (A) and (B) Only
(2) (A) and (C) Only
(3) (A) and (D) Only

(4) (B) and (C) Only
Options :
21052936657. 1
21052936658. 2
21052936659. 3
21052936660. 4

Question Number : 116 Question Id : 2105299341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
ListI List'ID
Institutions Locations
(a) The Bhandarkar Oriental () Shimla
Research Institute
(b) Indian Institute of Advanced (1) New Dellhz
Study
(c) National Library of India (i11) Kolkatta
(d) Nehru Memorial Museum (iv) Pune
and Library

Choose the correct answer from the options given below :
(1 (a)-(iti). (b)-(iv). (c)-(i). (d)-{)
) (2)-(iv). (b)-Q). (e)-(11). (d)-(ii1)
(3) (a)-(v). (b)-Q). (c)-(111). (d)-(i)
4 (a)-(1). (b)-(iv). (¢)-(ii1). (d)-(i1)

Options :

21052936661. 1
21052936662. 2
21052936663. 3
21052936664. 4

Question Number : 116 Question Id : 2105299341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
Match List T with List IT

List I List IT
Institutions Locations
(a) The Bhandarkar Oriental (1) Shimla
Research Institute
(b) Indian Institute of Advanced (il New Delhi
Study
(c) National Library of India (1) Kolkatta
(d) Nehru Memorial Museum (iv) Pune
and Library

Choose the correct answer from the options given below :
(1) (a)-(it1). (h)-(iv). (c)-(Gi). (d)-{)
@ (@), (b)-@). (e)-G). (d)-(i)
(3) (a)-(iv). (b)-(). (c)-(i1i), (d)-(1)
4 (2)-(1). (b)-@v). (c)-(iid). (d)-(1)

Options :

21052936661. 1
21052936662. 2
21052936663. 3
21052936664. 4

Question Number : 117 Question Id : 2105299342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List I Last IT
Authors Works
(a) TFerdinand de Sausme (i) “Two Aspects of languageé and tWo types'of Aphasic
Disturbances”
(b) Edward Sapir (1) Of Grammatology
(¢) Jacques Derrida (1) A Course in General Linguistics
(d) Roman Jakobzon (iv) Language
Choose the correct answer from the options given below :
(1) (a)-(iii). (b)-(1). (¢)-@). (d)-Gv) (2)  (a)-(iD), (b)-A). (c)-(ii). (d)-(iv)
(3)  (a)-@mw). (b)-av). (c)-@). (d)-0) 4@ (2)-0v), (b)-(). (c)-(i1w), (d)-(11)
Options :

21052936665. 1
21052936666. 2
21052936667. 3
21052936668. 4

Question Number : 117 Question Id : 2105299342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
Authors Works
(a) Ferdinand de Sausme (1) “Two Aspects of language and two types of Aphasic
Disturbances”
(b) Edward Sapir (1)  Of Grammatology
(c) Jacques Derrida (1) A Course in General Linguistics
(d) Roman Jakobson (iv) Language
Choose the correct answer from the options given below :
(1) (a)-(it1). (b)-(D). (c)-(1), (d)-(iv) (2)  (a)-(1), (b)-(1), (c)-(ii1), (d)-(iv)
(3)  (@)-m). (b)-(v). (c)-(u). (d)-(1) @ (@)-av). (0)-). (©)-(m), (d)-()
Options :

21052936665. 1
21052936666. 2
21052936667. 3
21052936668. 4

Question Number : 118 Question Id : 2105299343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List 1T

List T List IT
Terms Theorists
(a) Heteroglossia (i}  Michel Foucault
(b) Heterotopia (1) Louis Althusser
(¢) Grand Narrative (111) Mikhail Bakhtin
(d) Interpellation (iv) Jean—Francois Lyotard
Choose the correct answer from the options given below :
1) (@)-G). B)-G). (©)-(iv). (d)-(iii) (2)  (@)-Gi). (b)-(i1).1e)-(v). {d)- ()
(3 (a)-Gi). (b)-0). (©)-Gv). (-G (4 (2)-0w. (b)-(). (e)-Git). (d)-(1)
Options :

21052936669. 1
21052936670. 2
21052936671. 3
21052936672. 4

Question Number : 118 Question Id : 2105299343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List 1T

List I List IT
Terms Theorists
(a) Heteroglossia (1)  Michel Foucault
(b) Heterotopia (1) Louis Althusser
(¢) Grand Narrative (ii1) Mikhail Bakhtin
(d) Interpellation (1v) Jean—Francols Lyotard
Choose the correct answer from the options given below :
(1) (a)-Gi). (b)-G). (¢)-(iv). (d)-(iii) (2)  (a)-(ii). (b)-Gi). (&)-(v). (d)-@d)
(3 (a)-(iii). (0)-(), (0)-(v), (d)-(iD) @ (a)-Gv). (b)-(1). (e)-(ii). (d)-(i1)
Options :

21052936669. 1
21052936670. 2
21052936671. 3
21052936672. 4



Question Number : 119 Question Id : 2105299344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List I List IT
Critics Essays
(a) L.C.EKnights (1) “The Study of Poetry”™
(b) Lionel Trilling (i) “Restoration Comedy : The Reality and the Myth™
(¢) Matthew Arnold (i11) “Poetry for Poetry's Sake™
(dy A.C. Bradley (iv) “The Sense of the Past”
Choose the correct answer from the options given below :
(1) (a)-(ii1), (b)-(iv). (c)-(1). (d)-(11) (2)  (a)-(v). (b)-(1). (c)-(1). (d)-(i11)
(3) (a)-(11), (b)-(v), (e)-(1). (d)-(i11) 4) (a)-(iv). (b)-(ii1), (¢)-(1). (d)-(i1)
Options :

21052936673. 1
21052936674. 2
21052936675. 3
21052936676. 4

Question Number : 119 Question Id : 2105299344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List T List IT
Critics Essays
(a) L.C.EKnights (i} “The Study of Poetry™
(b) Lionel Trilling (i) “Restoration Comedy : The Reality and the Myth™
(¢) Matthew Arnold (i11) “Poetry for Poetry's Sake™
(dy A.C. Bradley (iv) “The Sense of the Past”
Choose the correct answer from the options given below s
D (@), B)-Ev). ()-0). (d)-() 2) (v b)0). (©)-GD). (@) (i)
(3) (a)-(i1), (b)-@v). (c)-(). (d)-(i1) (4)  (a)-(w). (b)-(111), (¢)-(1). (d)-(1)
Options :

21052936673. 1
21052936674. 2
21052936675. 3
21052936676. 4

Question Number : 120 Question Id : 2105299345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
ListI List IT
Text Author
(a) After Amnesia (1) Gauri Viswanathan
(b) The Indianization of (1) Harish Trivedi
English
(c) Masks of Conquest (i11) G.N. Devy

(d) Colonial Transactions (iv) B.B. Kachru

Choose the correct answer from the options given below :

(L (a)-(iv). (b)-(iil). (c)-G). (d)-(ii) (2) (a)-(il). (b)-(v). (e)-(1). (d)-(iii)
(3) (a)-(ii). (b)-(iv). (c)-(1). (d)-(ii) (4)  (a)-(ii), (b)), (e)-(v). (d)-Gi)
Options :

21052936677. 1



21052936678. 2
21052936679. 3
21052936680. 4

Question Number : 120 Question Id : 2105299345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with Last IT

Last I
Text
(a) After Amnesia 1)
(b) The Indianization of (i1)
English
(c) Masks of Conquest (111)

(dy Coelonial Transactions (1)

List IT

Author
Gauri Viswanathan
Harish Trivedi

G.N. Devy
B.B. Kachru

Choose the correct answer from the options given below :
(2) (a)-(1). (b)-av). (¢)-(2). (d)-(111)
@ (a)-(i), (b)-(), (c)-(v), (d)-(i1)

(1) (a)-(1v). (b)-(11d). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(1v). (c)-(1). (d)-(11}

Options :

21052936677. 1
21052936678. 2
21052936679. 3
21052936680. 4

Question Number : 121 Question Id : 2105299346 Question Type : MCQ Option Shuffling

Correct Marks : 2 Wrong Marks : 0
Match List T with List IT

List I
Word Borrowed
(a) caste (6]
(b) Theef (i)
(c) blunder (111)
(dy flak (iv)

List IT
Source Language
Norse
German
Portuguese
French

Choose the correct anawer from the options given below :
(2)  (a)-(i). (b)-(1v). (c)-(1i1). (d)-(1)
(4)  (a)-(i1). (b)-(v). (e)-(). (d)-(iii)

(1) (a)-(i). (b)-(). (e)-(iv). (d)-(ii)
(3)  (a)-(iil). (B)-(iv). (e)-(1). (d)-(i1)

Options :

21052936681. 1
21052936682. 2
21052936683. 3
21052936684. 4

: No Is Question Mandatory : No

Question Number : 121 Question Id : 2105299346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
Word Borrowed Source Language
(a) caste (1) Norse
(b) beef (i) German
() blunder (i11) Portuguese
(dy flak (iv) French
Choose the correct anawer from the options given below :
(1) (a)-(111). (b)-(1). (e)-(v). (d)-(11) (2)  (a)-(1). (b)-(1v). (e)-(111), (d)-(1)
(3) (a)-(1). (b)-(iv). (e)-(1). (d)-(i1) (4)  (a)-(). (b)-(Qv). (e)-Q). (d)-@ii)
Options :

21052936681. 1
21052936682. 2
21052936683. 3
21052936684. 4

Question Number : 122 Question Id : 2105299347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List I

List I List IT
Concepts Theorists
(a) Competence/Performance (1) Neam Chomsky
(b)  Signifier/Signified (i) Roman Jakobson
(¢) Metaphor/Metonomy (1i1) Louis Hjelmslev
(d) Content/Expression (iv). Ferdinand de Saussure

Choose the correct anawer from the options given below :

(D (@), b)), ©-@, @-Gv) @) (a)-(iD). (b)-(iiDafo)-(). (@-iv)
(3)  (a)-(id). (b)-iv). (e)-(i)., (d)-(1) (@) (a)Emb) GE (o)-[nd)- i)
Options :

21052936685. 1
21052936686. 2
21052936687. 3
21052936688. 4

Question Number : 122 Question Id : 2105299347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List T
ListI List IT
Concepts Theorists
(a) Competence/Performance (1) Noam Chomsky
(b) Signifier/Signified (1) Roman Jakobson
(c) Metaphor/Metonomy (111) Louis Hjelmslev
(d) Content/Expression (iv) Ferdinand de Saussure

Choose the correct answer from the options given below :

(1) (a)-(ii). (b)-(i1). (c)-(1), (d)-(v) (2)  (a)-Gi), (b)-(iid). (c)-(1), (d)-(v)
(3) (a)-(ii1). (b)-(iv). (c)-(i1), (d)-(1) (4)  (a)-(1). (b)-(iv). (c)-(11). (d)-(iii)
Options :

21052936685. 1
21052936686. 2
21052936687. 3
21052936688. 4



Question Number : 123 Question Id : 2105299348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

Tast I List IT
Author Autobiography/Memoir

(a) Pablo Neruda (1)  Under My Skin

(b) Graham Greene (i) Speak. Memory

() Doris Lessing (1) Memoirs

(d) Vladimir Nabakov (iv) A Sortof Life
Choose the correct answer from the options given below :
(1) (a)-(iv), (b)-(i1). (c)-(1), (d)-(i1) (2)  (a)-Gi). (b)-(1v). (¢)-@ii). (d)-()
(3) (a)-(ii). (b)-(1v). (c)-(11). (d)-(1) (4 (a)-(il), b)-av), (e)-G). (d)-G1)

Options :

21052936689. 1
21052936690. 2
21052936691. 3
21052936692. 4

Question Number : 123 Question Id : 2105299348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

Tast I List IT
Author Autobiography/Memoir

(a) Pablo Neruda (1) Under My Skin

(b) Graham Greene (1) Speak. Memory

(c) Doris Lessing (111) Memoirs

(d) Vladimir Nabakov (iv) A Sortof Life
Choose the correct anawer from the options given below :
(n (a)-(v), (b)-@1). (e)-1). (d)-(11) (2)  (a)fiigs(b)-G)s (c)-(id)s {d}@}
(3) ()-(11). (b)-(1v). (e)-(G1). (d)-(1) 4 (a)@iz), (b)-(iv), (c)-(). (d)-@1)

Options :

21052936689. 1
21052936690. 2
21052936691. 3
21052936692. 4

Question Number : 124 Question Id : 2105299349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

ListI List IT
Nowvel Character
(a) Barnaby Rudge (1) Miss La Creevy
(b) Little Dorrit (1) Miss Dolly
(¢ DNicholas Nickleby (111) Mrs. Boffin
(d) Owr Mutual Friend (iv) Mrs. Flintwinch
Choose the correct answer from the options given below :
(1) (2)-(1), (b)-(iid), ()-(1), (d)-(iv) (2)  (a)-(ii). (b)-(D), (0)-(v). (d)-(1)
(3) (a)-(11). (b)-Gv). (¢)-(i), (d)-(ii1) 4 (a)-(w). (b)-(2). (c)-(i1i), (d)-(11)
Options :

21052936693. 1
21052936694. 2
21052936695. 3
21052936696. 4



Question Number : 124 Question Id : 2105299349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

ListI List IT
Novel Character
(a) Barnaby Rudge (1)  Miss La Creevy
(b) Little Dorrit (1) Miss Dolly
(¢)  Nicholas Nickleby (iii) Mrs. Boffin
(d) Owur Mutual Friend (iv) Mrs. Flintwinch
Choose the correct answer from the options given below :
(1) (a)-(1), (b)-(iii), (c)-(11), (d}-(iv) (2)  (a)-(i1), (b)-(ii). (c)-(iv). (d)-Q)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(ii1) (4)  (a)-(w). (b)-(1). (c)-(iii), (d)-(i1)
Options :

21052936693. 1
21052936694. 2
21052936695. 3
21052936696. 4

Question Number : 125 Question Id : 2105299350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List IT
ListI List IT
Poet Poem

(a) John Donne {11 = “The Retreat”

(b) Andrew Marvell (1) “A Valediction of Weeping”

(¢) George Herbert (111) “The Garden”

(dy Henry Vaugham (iv) “The Collar”
Choose the correct answer from the options given below :
(1) (@)-Gv), (b)-(111). (e)-(1). (d)-Q) (2)  (a)-aw..(b)- @) (e)-(i1), (d)-(ii])
(3 (@-). (b)-Gv). (©-@). (@)-(ii) @) ()b, (@©-Gv). @-0),

Options :

21052936697. 1
21052936698. 2
21052936699. 3
21052936700. 4

Question Number : 125 Question Id : 2105299350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
ListI List IT
Poet Poem

(a) John Donne (1) “The Retreat”

(b) Andrew Marvell (1) “A Valediction of Weeping”

(¢) George Herbert (1i1) “The Garden”

(dy Henry Vaugham (iv) “The Collar”
Choose the correct answer from the options given below :
(1) (@-v), (b)-(i1d). (e)-(1). (d)-Q) (2)  (a)-Gv). (b)-(@). (c)-(11). (d)-(itl)
(3)  (a)-Gi). (b)-(v). (c)-(). (d)-Gii) 4 (-G, (b)-Gii). (e)-(v). (d)-G)

Options :

21052936697. 1
21052936698. 2
21052936699. 3
21052936700. 4



Question Number : 126 Question Id : 2105299351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct sequence of stages in empirical research?
(A) Data Collection

(B) Hypothesis

(C) Validation

(D) Findings

(E) Analysis

Choose the correct answer from the options given below :

(D (A), (E). (D), (B) and (C) 2y (B). (A). (E). (C) and (D)
(3) (B). (C). (A). (D) and (E) (4) (A). (C). (B), (E) and (D)
Options :

21052936701. 1
21052936702. 2
21052936703. 3
21052936704. 4

Question Number : 126 Question Id : 2105299351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct sequence of stages in empirical research?
(A) Data Collection

(B) Hypothesis

(C) Validation

(D) Findings

(E) Analysis

Choose the correct answer from the options given below :

(1) (A, (B). (D). (B) and (C) (2) (), (E)s (C)and (D)
3) (B, (0). (A). (D) and (E) @) (A)\XE).(B).(B) and (D)
Options :

21052936701. 1
21052936702. 2
21052936703. 3
21052936704. 4

Question Number : 127 Question Id : 2105299352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following eritical works in the chronological order of publication:-

(A) “Preface to Lyrical Ballads™

(B) A Defence of Rhyme

(C) “Life of Cowley”

(D) “Frontiers of Criticism”

Choose the correct answer from the options given below :

(1)  (A).(C). (B)and (D) (2) (B).(A).(C) and (D)
(3) (B). (C). (A) and (D) 4) (0. (A). (D) and (B)
Options :

21052936705. 1
21052936706. 2
21052936707. 3
21052936708. 4



Question Number : 127 Question Id : 2105299352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following critical works in the chronological order of publication:-

(A) “Preface to Lyrical Ballads™

(B) A Defence of Rhyme

(©) “Life of Cowley™

D) “Frontiers of Criticism”

Choose the correct answer from the options given below :

(1) (&). (C). (B) and (D) (2) (B). A (C) and (D)
(3) (B). (C). (A) and (D) 4) (0. (A). D)and (B)
Options :

21052936705. 1
21052936706. 2
21052936707. 3
21052936708. 4

Question Number : 128 Question Id : 2105299353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication
(A) Modern English Usage

(B) Proposals for Perfecting the English Language

(C) Usage and Abusage

(D)  An American Dictionary of the English Language

Choose the correct answer from the options given below :

(1) (D). ®B).(C).(4) (2) (B). (C). (D). (A)
(3) (B). (D). (A). (C) 4) (D). (C).(A). (B)
Options :

21052936709. 1
21052936710. 2
21052936711.3
21052936712. 4

Question Number : 128 Question Id : 2105299353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of publication
(A) Modern English Usage

(B)  Proposals for Perfecting the English Language

(C) Usage and Abusage

(D) An American Dictionary of the English Language

Choose the correct answer from the options given below :

(1) (D), (B), (C). (A) 2y (B (C). (D), A)
(3 (B.D).A). (O ) (D). (C). (A). (B
Options :

21052936709. 1
21052936710. 2
21052936711. 3
21052936712. 4

Question Number : 129 Question Id : 2105299354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
Arrange these autobiographical texts in the chronological order of publication :

(A) Autobiagraphy of an Unknown Indian
(B) My Experiments with Truth

(C) Prison and Chocolate Cake

(D) My Story

Choose the correct answer from the options given below :

(1) (D). (A, (C). (B) (2 (©).®B).wW. D)
(3) (B). (A). (C). (D) (4) (B).(C)(A). (D)
Options :

21052936713. 1
21052936714.2
21052936715. 3
21052936716. 4

Question Number : 129 Question Id : 2105299354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Arrange these autobiographical texts in the chronological order of publication :

(A) Autobiography of an Unknown Indian
(B) My Experiments with Truth

(© Prisan and Chocolate Cake

(D) My Story

Choose the correct answer from the options given below :

1 D). A).(©). B @ (@, B A). D)
3  B. ). (). D) @ (B, (C)K). D)
Options :

21052936713. 1
21052936714.2
21052936715.3
21052936716. 4

Question Number : 130 Question Id : 2105299355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following 19™® Century magazines in the chronological order of their publication :
(&) The London Magazine

(B) Quarterly Review

(©) The Spectator

(D) Edinburgh Review

Choose the correct answer from the options given below :

(1 (A). D). (0. ®B (2) B, @A@. D, )
(3) (D). (B). (A). (C) @ (©). (D). (B). &)
Options :

21052936717. 1
21052936718. 2
21052936719. 3
21052936720. 4

Question Number : 130 Question Id : 2105299355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following 19™® Century magazines in the chronological order of their publication :
(A) The London Magazine

(B) Quarterly Review

(C) The Spectator

(D) Edinburgh Review

Choose the correct anawer from the options given below :

1 @A). D). ©).(®B (2) (B). A). D). (C)
3 (D). ®. (AL @  (©). @D, B). &
Options :

21052936717. 1
21052936718. 2
21052936719. 3
21052936720. 4

Question Number : 131 Question Id : 2105299356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Arrange the following in the chronological order of their publication :

(A) Past and Present

(B) Leviathan

(C) Unto This Last

(D) The Life of Samuel Johnson

Choose the correct answer from the options given below :

(1) (B). (D). (A). (C) (@) (C), (D). (A).(B)
(3) (B). (A). (D). (C) (4) (C).(A). (D). (B)
Options :

21052936721. 1
21052936722.2
21052936723. 3
21052936724. 4

Question Number : 131 Question Id : 2105299356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of their publication :

(A) Past and Present

(B) Leviathan

(© Unto This Last

(D) The Life of Samuel Johnson

Choose the correct answer from the options given below :

(1) (B). (D). (A). (C) 2) (0. D.®A).®d
(3) (B). (A). (D). (C) (4) (C). (A). (D). (B)
Options :

21052936721. 1
21052936722.2
21052936723. 3
21052936724. 4

Question Number : 132 Question Id : 2105299357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following novels in the chronological order of their publication:
(A) The White Tiger

(B) A Tiger for Malgudi

(Cy A Suitable Boy

(D) Heat and Dust

Choose the correct answer from the options given below :

(1) D). ®B).(C). A 2 ®.D.(©). &
(3) B). (O). (A). (D) 4 (B (C). (D). (4
Options :

21052936725. 1
21052936726. 2
21052936727.3
21052936728. 4

Question Number : 132 Question Id : 2105299357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following novels in the chronological order of their publication:
(A) The White Tiger

By A Tiger for Malgudi

(C) A Suitable Boy

(D) Heat and Dust

Choose the correct answer from the options given below :

(1) (D). (B), (C). (&) (2) (B). (D). (C). (A)
(3) (B). (C). (A). (D) 4 (B).(C). D). &)
Options :

21052936725 1
21052936726. 2
21052936727.3
21052936728. 4

Question Number : 133 Question Id : 2105299358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Arrange the following in their chronological order of publication :

(&) The Pisan Canto

(B) Ballad of Reading Goal
(C) Mourn not for Adonais
(D) First step up Parnassus
(E) The Complaint of Troilus

Choose the correct answer from the options given below :

(1) (E), (D). (B). (C). (&) (2) (B). (C). (A). (E). (D)
(3) (C). (A). (B). (D), (E) @ (E). D). (C). (B). (&)
Options :

21052936729. 1
21052936730. 2
21052936731.3
21052936732. 4

Question Number : 133 Question Id : 2105299358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in their chronological order of publication :

(&) The Pisan Canto

(B) Ballad of Reading Goal
(C) Mourn not for Adonais
(D) First step up Parnassus
(E) The Complaint of Troilus

Choose the correct answer from the options given below :

(1) (E). (D). (B). (C). (A) (2) (B). (C). (A). (E). (D)
(3) (C). (A). (B). (D), (E) @ (E). D). (C). (B). (&)
Options :

21052936729. 1
21052936730. 2
21052936731. 3
21052936732. 4

Question Number : 134 Question Id : 2105299359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange in the chronological order of publication :

(A) The Unfinished Man

(B) Gitanjali

(C) Jejuri

(D) The Sceptred Flute

Choose the correct answer from the options given below :

(1) (B). (A). (D). (C) 2) (D). B). (©C). (&)
(3) (B). (D), (A). (C) ) (B). (D). (O &)
Options :

21052936733. 1
21052936734.2
21052936735.3
21052936736. 4

Question Number : 134 Question Id : 2105299359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange in the chronological order of publication :

(A) The Unfinished Man

(B) Gitanjali

(C) Jejuri

(D) The Sceptred Flute

Choose the correct answer from the options given below :

(1) (B). (A). (D). (C) (2) (D). (B). (C). (A)
(3) (B). (D), (A). (C) 4) (B). (D). (C). (&)
Options :

21052936733. 1
21052936734. 2
21052936735.3
21052936736. 4

Question Number : 135 Question Id : 2105299360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following plays in their chronological order :
(A) The Tempest

(B) All For Love

(C) Volpone

D) The School for Scandal

Choose the correct anawer from the options given below :

(1) (A). (C). (B). (D) (2) (C). (). (B). (D)
(3) (C). (B). (A). (D) (4) (A (D). (B). (C)
Options :

21052936737. 1
21052936738. 2
21052936739.3
21052936740. 4

Question Number : 135 Question Id : 2105299360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following plays in their chronological order :
(A) The Tempest

(B) All For Love

(C) Volpone

D) The School for Scandal

Choose the correct anawer from the options given below :

(1) (A). (C). ®B). (D) 2 (©.@A).(B), (D)
(3) (C). (B). (4). (D) 4 (A). D). (B).(O)
Options :

21052936737. 1
21052936738.2
21052936739. 3
21052936740. 4

Question Number : 136 Question Id : 2105299361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason E.

Assertion (A):  No piece of research will be the first of its kind

Reason (R) : The reliability of progress in knowledge 1s dependent on the honesty of the
rezearchers.

In the Light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) i1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

Options :

21052936741. 1
21052936742.2
21052936743. 3
21052936744. 4

Question Number : 136 Question Id : 2105299361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  No piece of research will be the first of its kind

Reason (R) : The reliability of progress in knowledge 1s dependent on the honesty of the
researchers.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

4) (A) 1 false but (R) is true

Options :

21052936741. 1
21052936742.2
21052936743. 3
21052936744. 4

Question Number : 137 Question Id : 2105299362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Cultures and cultural meanings are the same the world over.

Statement II: Tt is impossible to divide the world into exclusive cultural bloes

In the light of the above statements. choose the Correct answer from the options given
below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement II is false
(4 Statement [ is incorrect but Statement IT is trug
Options :

21052936745. 1
21052936746. 2
21052936747. 3
21052936748. 4

Question Number : 137 Question Id : 2105299362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [: Cultures and cultural meanings are the same the world over.

Statement IT: Tt is impossible to divide the world into exclusive cultural bloes

In the light of the above statements. choose the Correct answer from the options given
below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I is incorrect but Statement I is true

Options :

21052936745. 1
21052936746. 2
21052936747. 3
21052936748. 4



Question Number : 138 Question Id : 2105299363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reaszon R.

Assertion (A): Understanding the meaning of any cultural form would not simply locate it
within a specific culture.

Reason (R) : Cultural forms are best studied in terms of how these fit into the

intersection between different cultural networks.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) i1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) is not correct

(4 (A) 1s not correct but (R) is correct

Options :

21052936749. 1
21052936750. 2
21052936751. 3
21052936752. 4

Question Number : 138 Question Id : 2105299363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reaszon R.

Asszertion (A) :  Understanding the meaning of any cultural form would not simply locate 1t

within a specific culture.

Reason (R) : Cultural forms are best studied in terms of how these fit into the
intersection between different cultural networks.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1= not correct

(4) (A) 1s not correct but (R) 13 correct

Options :

21052936749. 1
21052936750. 2
21052936751. 3
21052936752. 4

Question Number : 139 Question Id : 2105299364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  English today is not only the language we teach but also the subject that

enables its learners to become subtle and tough minded readers

Reason (R) : Students are encouraged to think and analyse the historical and

ontological status of the texts they read. and how best to read them.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 1s correct but (R) 1= not correct

4 (A) is not correct but (R) is correct
Options :
21052936753. 1
21052936754. 2
21052936755. 3
21052936756. 4

Question Number : 139 Question Id : 2105299364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  English today is not only the language we teachrbut alse the subject that
enables its learners to become subtleaxﬁtoggﬁig:mmaﬂﬂrs

Reason (R) : Students are encouraged to thinkgand analysepthe ' historical and
ontological status of the texts they read. and how best to read them.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 1s correct but (R) 1= not correct

4 (A) is not correct but (R) is correct
Options :
21052936753. 1
21052936754. 2
21052936755. 3
21052936756. 4

Question Number : 140 Question Id : 2105299365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The Education Commission (1964—66) recommended the removal of English

as a medium of instruction at the college level.

Statement IT: English is still largely the language of administration and jurisprudence in

India.

In the hight of the above statements. choose the Correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II is false
(4) Statement I is incorrect but Statement Il is true
Options :
21052936757. 1
21052936758. 2

21052936759. 3
21052936760. 4

Question Number : 140 Question Id : 2105299365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The Education Commission (1964—66) recommended the removal of English

as a medium of instruction at the college level.

Statement IT: English is still largely the language of administration and jurisprudence in

India.

In the light of the above statements, choose the Correct answer from the aptions given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is correct but Statement II is false
(4) Statement I 1= incorrect but Statement Il 1s true
Options :
21052936757. 1
21052936758. 2

21052936759. 3
21052936760. 4

Sub-Section Number : 2
Sub-Section Id : 210529360
Question Shuffling Allowed : Yes

Question Id : 2105299366 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Question Numbers : (141 to 143)
Question Label : Comprehension

: Yes Group Comprehension Questions : No



Read the following passage and answer the questions that follow:
WHEN I'M ALONE

‘When I'm alone’— the words tripped off his tongue
As though to be alone were nothing strange.
‘When I was young’, he said, when I was young ...’
I thought of age, and loneliness, and change,

I thought how strange we grow when we're alone,
And how unlike the selves that meet, and talk,
And blow the candles out, and say good-night,
Alone ... The word is life endured and known.

It is the stillness where our spirits walk

And all but in most faith is overthrown.

SIEGFRIED SASSOON

Sub questions

Question Number : 141 Question Id : 2105299367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For the speaker of the words “When I'm alone’, being alone is
(1) The normal fate of a human being all his Iife

(2) The normal fate of 2 human being when he is young
(3) Not unlike being with others whom we meet

(4) Not strange as a person should feel alone

Options :

21052936761. 1

21052936762. 2

21052936763. 3
21052936764. 4

Question Number : 142 Question Id : 2105299368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For the poet, ‘Being alone’ 1s a condition conducive to

(1) happiness of the self
(2) becoming different from others
(3) growing up in an unexpected way

(4 thinking in a strange way

Options :

21052936765. 1
21052936766. 2
21052936767. 3
21052936768. 4

Question Number : 143 Question Id : 2105299369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which two of the following statements aptly captures the meaning of ‘Alone’ for thinking
beings?

(A) Meeting talking and bidding goodnight
(B) Quietude and calmness of zelf

(© Life lived and understood

(D) Becoming free from faith

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (C) and (A) Only (4) (D) and (B) Only
Options :

21052936769. 1
21052936770. 2
21052936771.3
21052936772. 4

Question Id : 2105299366 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (141 to 143)
Question Label : Comprehension

Read the following passage and answer the questions that follow:
WHEN I'M ALONE

‘When I'm alone’— the words tripped off his tongue
As though to be alone were nothing strange.
‘When I was young’, he said, when I was young ...
I thought of age, and loneliness, and change,

I thought how sfrange we grow when we’re alone,
And how unlike the selves that meet, and, ta]k,
And blow the candles out, and say good-night,
Alone ...The word is life endured and known.

It is the stillness where our spirits walk

And all but in most faith is overthrown.

SIEGFRIED SASSOON

Sub questions

Question Number : 141 Question Id : 2105299367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For the speaker of the words "When I'm alone’, being alone is

(1) The normal fate of a human being all his Iife

(2 The normal fate of a human being when he is young

(3 Not unlike being with others whom we meet

(4) Not strange as a person should feel alone

Options :

21052936761. 1
21052936762. 2
21052936763. 3
21052936764. 4

Question Number : 142 Question Id : 2105299368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



For the poet, ‘Being alone’ 1s a condition conducive to

(1) happiness of the self
(2) becoming different from others
(3) growing up in an unexpected way
(4) thinking in a strange way
Options :
21052936765. 1
21052936766. 2

21052936767. 3
21052936768. 4

Question Number : 143 Question Id : 2105299369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which two of the following statements aptly captures the meaning of ‘Alone’ for thinking
beings?

(A) Meeting talking and bidding goodnight
(B) Quietude and calmness of zelf

(© Life lived and understood

(D) Becoming free from faith

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B)and (C) Only
(3) (C) and (A) Only (4) (D) and (B) Only
Options :

21052936769. 1
21052936770. 2
21052936771.3
21052936772. 4

Sub-Section Number : 3
Sub-Section Id : 210529361
Question Shuffling Allowed : Yes

Question Id : 2105299370 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (144 to 145)
Question Label : Comprehension

Read the following passage and answer questions that follow

Poetry, as a mania — one of Plato’s two higher forms of “divine” mania — has, in all its species, a mere
insanity incidental to it, the “defect of its quality”, into which it may lapse in its moment of weakness;
and the insanity which follows a vivid poetic anthropomorphism like that of Rossetti may be noted
here and there in his work, in a forced and almost grotesque materialising of abstractions, as Dante
also became at times a mere subject of the scholastic realism of the Middle Age.

— Walter Pater

Sub questions

Question Number : 144 Question Id : 2105299371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the above, passage poetry is described as one of Plato’'s two higher forms of ‘divine
madness. Which is the other one?

Choose the correct option?
(1) Beloved (2) Love

(3) Jealously (4) Lover
Options :



21052936773. 1
21052936774.2
21052936775. 3
21052936776. 4

Question Number : 145 Question Id : 2105299372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Rossetti, the forced personifications may be :
(A) an incidental defect of poetic quality
(B) examples of a madness of thought

() an exaggerated concretization of things

(D) a divinely inspired poetic expression

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only (2) (D) and (C) Only
(3) (B) and (A) Only (4) (C)and (A) Only
Options :

21052936777. 1
21052936778.2
21052936779. 3
21052936780. 4

Question Id : 2105299370 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (144 to 145)
Question Label : Comprehension

Read the following passage and answer questions that follow

Poetry, as a mania — one of Plato’s two higher forms of “divine” mania — has, in all its species, a mere
insanity incidental to it, the “defect of its quality”, into which it may lapse in its moment of weakness;
and the insanity which follows a vivid poetic anthrepomorphism like that of Rossetti may be noted
here and there in his work, in a forced and almaost grotesque materialising of abstractions, as Dante
also became at times a mere subject of the schelastie realisni of the Middle Age.

— Walter Pater

Sub questions

Question Number : 144 Question Id : 2105299371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the above. passage poetry i1s described as one of Plato’s two higher forms of ‘divine’
madness. Which is the other one?

Choose the correct option?

(1) Beloved (2) Love
(3) Jealously (4 Lover
Options :

21052936773. 1
21052936774.2
21052936775.3
21052936776. 4

Question Number : 145 Question Id : 2105299372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In Rossettl, the forced personifications may be :

(A) an incidental defect of poetic quality
(B) examples of a madness of thought
(C) an exaggerated concretisation of things

(D) a divinely inspired poetic expression

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only (2) (D) and (C) Only
(3 (B) and (A) Only (4) (C)and (A) Only
Options :

21052936777. 1
21052936778. 2
21052936779. 3
21052936780. 4

Sub-Section Number : 4
Sub-Section Id : 210529362
Question Shuffling Allowed : Yes

Question Id : 2105299373 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (146 to 148)
Question Label : Comprehension

Read the following passage and answer questions

I do entreat your grace to pardon me.

I know not by what power I am made bold,
Nor how it may concern my modesty.

In such a presence here to plead my thoughts:
But I beseech your grace that I may know
The worst that may be fall me in this casef

If I refuse to wed Demetrius.

— A Midsummer’'s Night Dream

Sub questions

Question Number : 146 Question Id : 2105299374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who 1s the speaker of the above lines?

(1) Helena (2) Thisbe
(3) Peasblossom (4) Hermia
Options :

21052936781. 1
21052936782. 2
21052936783.3
21052936784. 4

Question Number : 147 Question Id : 2105299375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The above lines are addressed to

(1) Theseus (2) Egeus
(3) Oberon {4) Phlostrate
Options :

21052936785. 1



21052936786. 2
21052936787. 3
21052936788. 4

Question Number : 148 Question Id : 2105299376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who was in love with Demetrius?

(1) Hippolyte (2) Helena
(3) Thisbe (4) Hermia
Options :

21052936789. 1
21052936790. 2
21052936791. 3
21052936792. 4

Question Id : 2105299373 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (146 to 148)
Question Label : Comprehension

Read the following passage and answer questions

I do entreat your grace to pardon me.

I know not by what power I am made bold,
Nor how it may concern my modesty.

In such a presence here to plead my thoughts:
But I beseech your grace that I may know
The worst that may be fall me in this case.

If I refuse to wed Demetrius.

— A Midsttmmer’s Night Dieam

Sub questions

Question Number : 146 Question Id : 2105299374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who 1is the speaker of the above lines?

1) Helena (2) Thasbe
(3) Peasblossom (4) Hermia
Options :

21052936781. 1
21052936782.2
21052936783. 3
21052936784. 4

Question Number : 147 Question Id : 2105299375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The above lines are addressed to

(1) Theseus (2) Egeus
(3) Oberon (4) Plilostrate
Options :

21052936785. 1
21052936786. 2
21052936787. 3
21052936788. 4



Question Number : 148 Question Id : 2105299376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who was in love with Demetrius?

(1) Hippolyte (2) Helena
(3) Thisbe (4) Hermia
Options :

21052936789. 1
21052936790. 2
21052936791. 3
21052936792. 4

Sub-Section Number : 5
Sub-Section Id : 210529363
Question Shuffling Allowed : Yes

Question Id : 2105299377 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :

Question Numbers : (149 to 150)
Question Label : Comprehension
Read the following and then answer the gquestions that follow :

He went to work in this preparatory lesson, not unlike Morgiana in the Forty Thieves:
looking into all the vessels ranged before him, one after another, to see what they contained.
Say, good M Choakumchild. When from thy boiling store, thou shalt fill each jar brim full by-
and-by; dost thou think that thou wilt always kill cutright the robber Fancy lurking within —
or sometimes only maim him and distort him.

Dickens Hard Times
Sub questions

Question Number : 149 Question Id : 2105299378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the expression “... looking into all the vessels ranged beforeshim..."sswhich one of the
following devices is used?

(1) Synecdoche
(2) Metonymy
(3) Metaphor
(4) Simile

Options :

21052936793. 1
21052936794. 2
21052936795. 3
21052936796. 4

Question Number : 150 Question Id : 2105299379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fancy’ is opposed to which two of the following?

(A) Emotion

(B) Reason
(C) Fact
(D) Imagination

Choose the correct answer from the options given below :

(1) (B) and (C) Only
(2) (C) and (D) Only
(3)  (A)and (C) Only
(4) (B) and (D) Only

Options :

21052936797. 1
21052936798. 2
21052936799. 3
21052936800. 4

Question Id : 2105299377 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (149 to 150)

Question Label : Comprehension

Read the following and then answer the guestions that follow :

He went to work in this preparatory lesson, not unlike Morgiana in the Forty Thieves:
looking into all the vessels ranged before him. one after another, to see what thev contained.
Say, good M Choakumchild. When from thy beiling store, thou shalt fill each jar brim full by-
and-by: dost thou think that thou wilt always kill outright the robber Fancy lurking within —
or sometimes only maim him and distort him.

Dickens Hard Times
Sub questions

Question Number : 149 Question Id : 2105299378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the expression “... looking into all the vessels ranged before him...". which one of the

following devices is used?

(1) Synecdoche
(2) Metonymy
(3 Metaphor
(4) Simile

Options :

21052936793. 1
21052936794. 2
21052936795. 3
21052936796. 4

Question Number : 150 Question Id : 2105299379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fancy is opposed to which two of the following?

(A)  Emotion
(B)  Reason
© Fact

Choose the correct answer from the options given below :
(1)  (B)and(C) Only
(2)  (C)and (D) Only
(3) (A and (C) Only

(4)  (B)and (D) Only

Options :

21052936797. 1
21052936798. 2
21052936799. 3
21052936800. 4
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